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The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) Girls Enrolled (Out of 3500)
Basketball 16% 14 %
Soccer 21% 28%
Badmmton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

Sub questions

Question Number : 1 Question Id : 5330721750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the number of boys who are enrolled in the game Basketball ?

(1) 805
(2) 430
(3) 840
) 470

Question Number : 2 Question Id : 5330721751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of girls and the number of boys who are enrolled in the
game of Tennis ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330721752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Cricket is approximately % more than the number
of students who are enrolled in Badminton.

(1) 21.79

(2) 22.71

(3) 23.81

(4) 25.91

Question Number : 4 Question Id : 5330721753 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Soccer is % of the number of boys who are enrolled
in all the five sports games.

(1) 10.2

(2} 11r2

&y 122

(4) 13.2

Question Number : S Question Id : 5330721754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many boys are enrolled in Soccer and Tennis together ?

(1) 610
() 640
(B) 720
@) 710

Question Id : 5330721749 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

e arferem ® ek formera ® 202223 99 F SWA aRehedd, Feard, defied, fhhe ot e
ATF Yie STAT-STe Well § AWifha foafedal (sers 9 aifeerd) @i 9& 9 aifeenisii @ §&1 #6
ferr( %) feraor giien e ¥ Ternera # %@ 6000 fomnefl & e @eli | Amifea € o | anfeemsti =t
T&AT 3500 T | iR H YEd BT % SNUR W, 3T I8 T4 W & 3T ST |

oo™ ¥ faenfet =1 @a-ar AmieEA

yferera faazor
FeT srATfasa faameff (6000 # &) | @wifda aiferast (3500 7 )
TR-GCaTe 16% 14%
peaTel 21% 28%
Ssffiest 14% 16%
F¥e 29% 20%
e 20% 22%

Sub questions

Question Number : 1 Question Id : 5330721750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATEhREATe o Wl H AWifehd STeiehl i G &1 § ?

(1) 805
(2) 430
(3) 840
4) 470
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Question Number : 2 Question Id : 5330721751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & @a # Tmifera anfereristi ®1 S 3R aetehi 1 S o sia o R =1 e ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330721752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forepe o Amifera a1 dem Sefhe | Amifewa faenfert = g & e % HIEF T |
1) 21.79
@ 22.71
(3) 23.81
4) 25.91

Question Number : 4 Question Id : 5330721753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FedTed H AHifET o] i G g o well § A SerR i H5en i % ¥
1 10.2
@ 11.2
@) 122
4) 13.2

Question Number : 5 Question Id : 5330721754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feara i ey # faete fore wrere amiferd € 2

(1) 610

(2) 640

() 720

(4) 710
Sub-Section Number : 2
Sub-Section Id : 53307274
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330721755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'I never teach my pupils; I only attempt to provide the conditions in which they can learn’ is a
statement by :

(1) Swami Vivekananda

(2) Albert Einstein

(3) Sri Aurbindo

(4) Aristotle
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Question Number : 6 Question Id : 5330721755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B o BTE T off ver T 7, § how UE uRffaat Suers e § e 3 O 99 -9 e
frefafas sfm #F1 ¢ :

(1) @ fagsHs
(2) e FEEH
(3) f sRfer<

(4) SHF

Question Number : 7 Question Id : 5330721756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of learning, which of the following DOES NOT represent the self concept ?
) It is what an individual feels about others.

(2) Itis what an individual feels how others think/perceive of him/her.

(3) Itis an awareness of the individual about his/her strengths.

(4) It is an awareness of the individual about his/her weaknesses.

Question Number : 7 Question Id : 5330721756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st & ded # fefafga § € Sa-—a  stren sraamon’ =5 gfafafie 1@ e ?

(1) Tore =afed gR0 S84 3 9 Hegd 1 T 96 |

(2) T oafaa gro sgF o A gl g e e /g 7 o |
(3) T&d T/ IO /emared % IR H ot wafa o Stee |
(4) = F FHSAA & IR H FHH =t F S |

Question Number : 8 Question Id : 5330721757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represent characteristics of teaching ?
(A) To provide guidance and training to students

(B) Interaction between authorities

(C) To provide formal and informal education

(D) An art to import knowledge to students in an effective way

(E) To prepare policies for corporate bodies

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (A), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (O, (D) and (E) Only

Question Number : 8 Question Id : 5330721757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafas o & SH-df fodmars fasro =1 wd gfafafes = € 2
(A) B o AFTEYF IR gferaon <

(B) WIfH=RIEl & &= Harg

(C)  sfrorenfiar R arerg=niier fo1en gem &
(D) BTl I GATE 1 H JH UM FA Hl Fell
(B) wdie frarrai & fore wiifearl Sam s
= feu o fased § 9 Qe W F T4 HIAC ;
(1) e (A) TR (B)

(2) = (A), (D) &R (E)

(3) &= (A), (C) 3R (D)

(4) = (O), (D) ¥R (E)

Question Number : 9 Question Id : 5330721758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Learning style) (Characteristic)
A) Converger I They are best at concrete experience and reflective observation.
& ey P

Their strength is their i_magi_m:ltive abi_lity They tend to be
interested in penple and emotonal elements.

(B) Diverger (Il) They are good at Abstract Conceptualization and Active
Experimentation like solving problems; practical application of
ideas.

(C) Assimilator (IlI) They enjoy and seek new experiences and adopt to new

situations; and are intuitive, risk-takers open minded.

(D) Accomodator (IV) Ability to create theoretical models; possess sound logic,
inductive reasoning, Analytic less interested in people.

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IID), (C)-(II), (D)-(I)
(2)  (A)-(), (B)-(ID), (O)-(1), (D)-(1V)
(3)  (A)-(1D), (B)-(I), (C)(IV), (D)-(III)
4 (A)-1), (B}(ID), (O)~), (D)-(IV)

Question Number : 9 Question Id : 5330721758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11
( 3fermm ( afurereroT )
(A) TS () 329 sryEl SR femaeie Garoi & fore wataw g 1 39 ufsa
FTH] FEGARIST il AFGAT | T 9 S SR WraHraTes aol J s
T g |
(B) ETHESR () o oTod Hyciem 3R 9w TEr S8 auemel o gEeE o,
forami o =Eeris ST § o7 B B
(C) reqETasal (L)) & 9T TS FTd & S ITH 378 o & AR 72 gftfeefadi & stqga
T M 2; St 2 g, Sifem e € ol wer femm arct 2 #
(D) THwE (IV) =79 Sgifcsk AiSTl &1 o1 HA T &0 Bl ¢ 19 deh YIfaR gl €
FTHATCH: Toh I 21t ¢, & faveror e aret 2ra § o ot 3 %9
4 ww@Ed 2
v feu o fawmedi § | WE I F =TI FIfAU
(1) (AHIV), (B)-(LID), (O)-(11), (D)-(I)
(2) (A)-(Im), (B)«(ID), (©)-1), (D)-(IV)
(3) (A1, (B)-(I), (O)-(IV), (D)~(I0)
(4)  (AHD), (By-(IT), (O-(Im), (D)-(IV)

uestion Number : 10 Question Id : 5330721759 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i

(
(
(
(

Q

Education is the manifestation of perfectio:n a]_ready mn man” is a statement by :

1) Rabindranath Tagore

2y M.K. Gandhi

3)  Sri Aurobindo

4) Swami Vivekananda

uestion Number : 10 Question Id : 5330721759 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

]

(
(
(
(

Q
C

“foreat, W H vESt @ A feem ol B Yok 8 Foreiferfian # @ for st o e 2

1) =T 2R

2)  THE. T

3) ot afa=

4) @ faeEHe

uestion Number : 11 Question Id : 5330721760 Question Type : MCQ Option Shuffling : No

orrect Marks : 2 Wrong Marks : 0
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Survey research on a single, case with a view to revealing important features about its nature,

corresponds to which of the [nllowi_ng research designs ?
(1) Cross - sectional

(2) Longitudinal
(3) Case study
(4) Comparative

Question Number : 11 Question Id : 5330721760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot wehet W () # 3H@ Uohfa Hadt Hemyul sfieremii @1 3SR #A #1 gfe 9 foean s aren

e vy = § § 9 ¥ Wy oifiehed & guey €2
(1) gfafeaTeass

2 oA
(3) RO HAETH
{4) qefrcHsh

Question Number : 12 Question Id : 5330721761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the I‘D]lDWi.ng is concerned with the question whether the measure of a concept truly

represents that concept ?
(1) internal validity

(2) external validity
(3) construct validity
(4) transferability

Question Number : 12 Question Id : 5330721761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 % 9 [ 39 7§ Heitua € for 5 Tt deheamn =1 A9 9 wraa o Se Heheu 1 Wittt s

€7

(1)  safteR e
(2) @ o

(3) TafHa Sz
(4)  SFariaa

Question Number : 13 Question Id : 5330721762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the data sets with following pairs of mean (x)and standard direction () in increasing

order of their coefficient of variation.
(A) a=50o=12

(B)
(©)

=550c=10

= |

= |

=60,0=14

@) x=70,0=15
Choose the correct answer from the options given below :
(1) (A), (B) (©), (D)
(2) (B), (D) (Q), (A)
(3) (©. (D) (A), (B)
(49) (D) (B) (A) (Q)

Question Number : 13 Question Id : 5330721762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl ¥ % WA (x) 9 HEe foEer (o) It R Il el SR YR e % wed 3 H erattem
Hifer ;

(AY x=500=12

(B)
(©)

=55 0c=10

=1

= |

=60,0c=14

(DY x=70,0="15
= feu o fawedi 9 Qi I F1 =T FfST
(1) (A), (B) (C), (D)
(2) (B), (D) (©), (A)
3) (©), (D) (A), (B)
(4) (D), (B) (A), (©)

Question Number : 14 Question Id : 5330721763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on plagiarism, a student’s registration in the Ph.D. Program
will be cancelled for which of the fD]lDwi_ng similarities percentage in the thesis ?

(A) 37%

(B) 46%
(C) 58%
(D) 62%
(E) 78%

Choose the correct answer from the options given below :
(1) (A), (B) (O), (D) Only

@ (®), (© (D), (E) Only

(3) (), (D) and (E) Only

(4) (D) and (E) Only

Question Number : 14 Question Id : 5330721763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uifeferes =k Fast 350490 faftem 2018 % STER Rl 9. 0=, Fedsn & foaenef &1 gsiewon 39s
e gay 3 = § | fopan wiosra gwmar & s 1§ fman s ?

(A) 37%
(B) 46%
(C) 58%
(D) 62%
() 78%

= fau o faredi § 9 Qe IR 1 999 FIfE
(1) FEe (A), (B) (C) &R (D)

(2) FF (B), (O) (D) 3R (E)
(3) = (C), (D) 3R (E)
(4) HF (D) 3T (E)

Question Number : 15 Question Id : 5330721764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Type of variable) (Example)
(A) Nominal (I) Distance
(B) Ordinal (I1) Marital status
(C) Interval (IlI) Movie ratings
(D) Ratio (IV) Location of places in Latitude degrees

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (©)-(1), (D)-(IV)

@ (A1), (B)-(11), (©)-@), (D)-1V)
() (A, (B)-(1V), (O)-(11), (D)-()
@) (A1), (B)-(1), (©)-1V), (D)-(1)
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Question Number : 15 Question Id : 5330721764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
Tt - 1 et - 11

(X F USHT) ( 3erET )
(A) TR o T
(B) THHIIF (I) =efess =i
(C) sHauafy (1) =rf= e
(D) =9 (IV) =3eqie feait | i &l farefa

= fau o faskedi # @ W&t IW /T HTAC
(1) (A)-(), (B)-(1D), (O)-1), (D)-(1V)
(2 (A)-(D), (B)-(ID, (C)-1), (D)-(IV)
(3) (A, (B)-(IV), (O)-(ID), (D)-()
(4) (A1), (B)-(LID), (C)-V), (D)-()

Question Number : 16 Question Id : 5330721765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Devarshi Narada is treated as the first communicator, because :

(1) He always speaks against the others.

(2)

(3) He is not everywhere everytime.
)

(4) He is faithful to his lord.

Question Number : 16 Question Id : 5330721765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< ARE T g HERE THT 5§, i

(1) © oW SHY * fEgers =o€ |

(2) 9 TARIE 9 de €, UaTehRRI o s Heaee] T © SR WuTe & aeadl # foae @ wmw
(3) YT HHY W M W HSE T @

(4) 9 319 W F Ufd TEER & € |

Question Number : 17 Question Id : 5330721766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the Printing process ?

(1) G.Marconi

(2) Tang Dynasty

(3) William Caxton

(4) Johannes Gutenberg

Question Number : 17 Question Id : 5330721766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeU U9 1 =90 e fran o ?
(1) i, HERTH

(2) @ SEARRL

(3) Tafeaw wage

(4) Sierg A

Question Number : 18 Question Id : 5330721767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the following types of communication in proper sequence :
(A) Group

(B) Public

(C) Mass communication

(D) Intrapersonal

(E) Interpersonal

Choose the correct answer from the options given below :
(1) (D), (E) (A), (B) and (C)

(2) (E), (D) (O), (B) and (A)

(3) (&), (B) (©), (E) and (D)

(4)  (B), (A) (©), (D) and (E)

Question Number : 18 Question Id : 5330721767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HaR o frforfaa gerl =i sfEa s § fofa .

(A) HIE

(B) WIESIE

(C) M =R

(D) gt
(E) erdafdas

e feu o foreredl & 9 T S = FE
1 O E (A) B R (O

2) (B), D) (©), (B) AR (A)
(3) (A), (B) (O, (E) ¥R (D)
4) (B), (A) (O, (D) 3R (E)

Question Number : 19 Question Id : 5330721768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who sends what to whom in a communication process ?
(A) Channel sends the message to sender.

(B) Sender sends messages to receiver.

(C) Sender sends the feedback receiver.

(D) Receiver sends messages to sender.

Choose the correct answer from the options given below :
(1) (A) Only

() (B) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Question Number : 19 Question Id : 5330721768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R giswar | H g = s ® 2

(A) =, Y9 ] HQ9 Al & |

(B) e, Wriehdl I HeW ST € |

(C) e, wraekal 1 Ffagfiz (Hise) G T
(D) WTeshdl, YUk I GEw T ¥

= fou u foeredi # 9 & IW 1 F9H AT -

(1) I (A)
(2) eI (B)
(3) FE (A) ¥R (D)
(4) = (B) 2R (O)

Question Number : 20 Question Id : 5330721769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Communication terms) (Features)
(A) Effective verbal communication () Knowledge and skills
(B) Effective communication (II) Insufficient knowledge

(C) Effective non-verbal communication  (III) Effective speaking
(D) Barrier of communication (IV) Body language
Choose the correct answer from the options given below :

(1) (A)-D, (B)-I), (Q-IV), (D))

2) (A1), (B)-11), ©)-@), (D)-1V)
() (A)-(D), (B)-(D), (O)-(), (D)-(V)
4)  (A)-(I), (B)-(D), (O(1V), (D)1

Question Number : 20 Question Id : 5330721769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 196 |19 gt - 11 31 e wife |
et - 1 T - 11

(Hu e v ) ( fagrard )
(A) HuET wfeges Higm () TH R R
(B)  wEt Wy (I) 9t 99
(C) W TR-ynfagar Tomor () ST ®9 § S
(D) TER F 37elH (IV) Teka

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(IL), (O)-(1V), (D)-(11)
(2) (A, (B)-(I1D), (C)-(), (D)-(IV)
(3)  (A)-(D, (B)-(1), (C)-(IL), (D)-(IV)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 21 Question Id : 5330721770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘A’ takes twice as much time as ‘B’ to complete a work and ‘C’ does it in the same time as both ‘A’
and ‘B’ together do it. If all three of them work together and complete the work in 5 days, then the
time taken by ‘B’ to complete the work alone is :

(1) 12 days
(2) 14 days
(3) 15 days
(4) 18 days

Question Number : 21 Question Id : 5330721770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepeft =Te &1 90 T | ‘A7 1B’ H AT 99 ORTT € S C 59 I I Saq 994 H 90 o o € T
g A B 3 T frere 38 g e § 1 afe 9 o w fresm w e s feii d e an € A
=9 4 I TR T FA § B I TR wHg @i ?

1y 12f@=
(2) 14 fed
(3) 15 fea
(4) 18 f&m

Question Number : 22 Question Id : 5330721771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 persons consume 810 kg of food in 27 days. In how many days will 60 persons consume 300 kg
of food ?

(1) 12 days
(2) 13 days
(3) 15 days
(4) 18 days
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Question Number : 22 Question Id : 5330721771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 &I 810 Teredt it 27 feri ® Teu = €1 60 & forad foAl # 300 kg HISH &9 T ?
(1) 12fH F

(2 13fAid
(3) 15 fedi
(4) 18fcHi 7

Question Number : 23 Question Id : 5330721772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fraction in decreasing order :

12
A) 75
7
B 13
11
© 17
17
D) =5

Choose the correct answer from the options given below :
(1) @A), (B) (©), (D)
@ (©). A (D), (B)
(3)  (B), (O, (D), (A)
(4) (D) (A) (B), O

Question Number : 23 Question Id : 5330721772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et Tl 1 w28 5w 4 ot Y
12
A I
7
B =
11
€ =
17
1=

A fe o fased & | W& IW F T HC
(1) &), (B) (©), D)
(2 (©), (A) (D), (B)
(3)  (B), (©), (D), (A)
4) (D) (A) (B), ©)

Question Number : 24 Question Id : 5330721773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the number that occurs in the series 2, 10, 30, 68, 130, ....... A
(A) 738

(B) 349
(C) 520
(D) 222

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (O) and (D) Only
(3) (A), (C) and (D) Only
4) (A), (B) and (D) Only

Question Number : 24 Question Id : 5330721773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2, 10, 30, 68, 130, ........... H 37 9Tel 37! H1 Ted |

(A) 738
(B) 349
(C) 520
(D) 222

=1 feu T fomredl § § WeH Sugerd 3T T =TI HIN0

(1) eI (A), (B) 3R (O)
(2) = (B), (C) &R (D)
(3) = (A), (C) IR (D)
(4) A (A), (B) 3R (D)
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Question Number : 25 Question Id : 5330721774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - I1
(Word) (Unique Code)
(A) PRIME (I 69
(B) SIGHT (Im 72
(C) QUITE (III) 63
(D) RHYME (V) el

Choose the correct answer from the options given below :
(1) (A)HD), (B}-(II), (O)-(Im), (D)-(IV)
2 A1), (B)-(1), (©)-1V), (D)-1)
(3)  (A)-(1LV), (B)-(IIL), (C)~(11), (D)-(I)
(4)  (A)(II), (B)-(IV), (O)-(I), (D)-(IT)

Question Number : 25 Question Id : 5330721774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
et - 1 et - 11

== (Word) ( fgera 2 )
(A) PRIME @ 69
(B) SIGHT a 72
(C) QUITE ) 63
(D) RHYME 1) 61

A feu o faepedi & | W@ I = HS
(1) (ARD), (B)(L), (C)(I), (D)-(IV)
2 (AHID, B)-111), (C)-V), (D))
(3)  (A)-IV), (B)-(), (O)-(1D), (D)-()
(4) (A, (BA(IV), (CHD), (D)-(ID)

Question Number : 26 Question Id : 5330721775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred from the following ?

“Because x=3 and y =5, then x+y=8§"

Itisa:

(1) Deductive argument based on elimination

(2) Deductive argument based on Mathematics
(3) Inductive argument from Authority
(4) Inductive argument from Principle of Charity

Question Number : 26 Question Id : 5330721775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa & 1 STHHM @ S W € 7
“FGifH x=3 AR y=5T x+y=8"
TET

(1) =% faeme smenfa fFrmArTs o
(2) @8 iU seIid FeAmeHe a9 2|
(3) @& WIfHRRT & YT ANTHAH ek ¢ |
) eI o TaEia | W SARTHAHSE a9 © |

Question Number : 27 Question Id : 5330721776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a common pattern of Deductive Reasoning ?
(1) Hypothetical Syllogism

(2) Categorical Syllogism

(3) Argument from Definition

(4) Predictive Argument

Question Number : 27 Question Id : 5330721776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefaa & 4 Fm-a Frmares 9F & ame= ey (Yed) 79 € ?
(1) WTRRCTICHE =19 S

(2) freuier =m s

(3) O & 9T ah

(4)  wfoergEe 76

Question Number : 28 Question Id : 5330721777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can be claimed of Deductive argument correctly ?
(A) I the premises are true, then the conclusion is pmbably true.

(B) If the premises are true, then the conclusion must be true.

(C) It is unlikely for the premises to be true and the conclusion false.

(D) The conclusion follows necessarily from the premises.

(E) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (D) and (E) Only

(4) (A), (D) and (E) Only

Question Number : 28 Question Id : 5330721777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa § & s o % 9N § ®FE 96 T/ € 2

(A) AfE MR o Fe & o TRy Hyed: Jed 2 |

(B) Afg YR arR Hed € of ferd 1oy 9 2 |

(C) YR areEl & T B4 T2 T9RY &1 19 S 91: 999 el Bial |
(D) Trepd srframd w9 § R 9t | srfoe S e

(E) |l SN Skl o1 Sl el a2 e 31 79 €1 STHYE 2 |
= feu mu forredi § § W& 3T A =TI FHY

(1) e (A), (B) 3 ()

(2) & (A) 3R (C)
(3) @d (B), (D) i (E)
(4) HEA (A), (D) 3R (E)

Question Number : 29 Question Id : 5330721778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Concept) (Description)
(A) Statement (I) A statement in an argument that is intended to be proved or
supported by the premises
(B) Premise (II) A sentence that can be viewed as True or False
(€) Conclusion (ITlI) Group of statements intended to prove or support another
statement
(D)  Argument (IV) Reason why we should accept another statement or conclusion

Choose the correct answer from the options given below :
(1) (A)-(LD), (B)-(I), (C)-(L), (D)-(IV)
(2)  (A)-(1D), (B)-(IV), (O)-(I), (D)-(III)
(3)  (A)-IV), (B)-(I), (C)-(II), (D)-(I)
(4)  (A)-(1D), (B)-(III), (C)-(1V), (D)-(I)

Question Number : 29 Question Id : 5330721778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

( 3@ ) (Fuis)
(A) F @O T giaa o = Fy 59 esmur s g weifora = gafia e
ST S €
(B) NHRATH (1) T o o O o1 789 o ®9 1 <@ & Hehal € |
(C) Traewd (II1) =Fei =1 T9e fSHek g0 319 oA &1 Yo o1 gafda fean s
o ¥
(D) I (IV) &H S8 e a1 fepd o 1 Telieh Tl =N1feq, S9! I |

Fr= feu mu fasedi ¥ | W& T T 7 FHIGC
(1) (A, (B)-(D), (O)-(1), (D)-(IV)
(2 (A)-ID, (B)-(IV), (O)-), (D)-(1II)
(3)  (A)-V), (B)-(D), (O)-(IL), (D)~(11)
(4) (A1, (B)-(1D, (©)-1V), (D)1

Question Number : 30 Question Id : 5330721779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Term/concept) (Description)
(A) Upanaya (I)  The knowledge of Paksadharmata as qualified by Vyapti
(B) Paramarsa (I) The invariable relation or association of the Middle term in the
minor term
(C) Vyapt (IlI) The application of the universal concomitance to the present
case
(D) Paksadharmata (IV) The invariable association of the middle term with the major
term

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(T), (O)-II), (D)-(IV)
(2)  (A)-(II), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(1V), (B)-(III), (O)-(I), (D)-(II)
(4) (A)-(L), (B)-(I), (C)-(IV), (D)-(II)

Question Number : 30 Question Id : 5330721779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
T - 1 et - 11

(U/ASEITTO) (=i )
(A) 3IF () =Aftd gRI ATeaa qarHd 1 I
(B) R (1) ¥ 95 3R 981 9g &1 FRuare gey s7erer 9eed
(C) = (1) TrEifoes geafdar & ada mme § sy
(D) TaerHa (IV) ¥4 9% 3R |9 98 1 fems wead

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(ID, (B)-(1), (O)-(11L), (D)-(1V)
(2)  (A)-(m), (B)-(ID), (C)-(1V), (D)-(D)
(3)  (A)-(LV), (B)~(IIL), (O)~(I), (D)-(IT)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 31 Question Id : 5330721780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ChatGPT is an Al chatbot developed by OpenAl and was launched in November 2022. What
does ChatGPT stand for ?

(1) Chat Generative Pre-trained Transmission

(2) Chat General Pre-trained Technology

(3) Chat Generalized Pre-trained Technique

(4)

Chat Generative Pre-trained Transformer

Question Number : 31 Question Id : 5330721780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SHE. @A TaTE. 5 faewfaa uw 0w afs (T, Jeeie v SR 5 Tee 2022 § wafda fw
T 1| HE S, g AT e ?

(1) == SRfes dfi-gve gifaeH

(2) =T TS W-ZUE TS
(3) 2 SHeTgse W-2ue ZoFHh
(4) 2 SHifEa W TUe TEEER

Question Number : 32 Question Id : 5330721781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following snapshot of MS-EXCEL worksheet :

A B B

1 90 70
Z 60 170
3 150 | 20
4 30 110
3 50 40
6 130 | 30
7

What will be the value of the cell C1 conl:ai_lﬁng the formula=SUMIF(A1:A6,">100",B1:B6) in the
above worksheet ?

(1) 90
() 390
(3) 50
(4) 420

Question Number : 32 Question Id : 5330721781 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

UH,UH, U 1 95 F e Sueiie g faamr #ifs .

A B &

1 90 70
2 60 170
3 150 | 20
4 30 110
5 50 40
6 130 | 30
o

IEF Frd 9T H FwE ClL H I =SUMIF(A1:A6,>100”,B1:B6) T L 9L | 1 €711 7

(1) 90
) 390
@) 50
(4) 420

Question Number : 33 Question Id : 5330721782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If (L)ys represents a number L in base - M number system, then identify the correct descending
order of the fU]lDwi_ng number A-D, when converted to base-10 number system.

(A) (9C)yq

(B) (233)

© (1),

(D) (10011110),

Choose the correct answer from the options given below :
(1) (©), (D) (B), (A)

(@) (D) (©)(A) (B)

(3) (B, (O) (A), (D)

4) D) Q). (B), (A)

Question Number : 33 Question Id : 5330721782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afg (L), o5 TH 3ok JUIel! H Sieh Tl i Sl 8, df 774 35 A-D =l s[9-10 37 Fomel H ®9ia i
T IR Hel STeiel A i Tedr FIfS ;

(A) (9C)
(B) (233)g
(©) (313);

(D) (10011110,

= feu T faehedi § & W@ ST =EE H
1) (©, (D) (B) (A)

2 ©O) (©) (A) (B)

3)  (B) (©) (A) (D)

@) (D) (©) (B) (A)

Question Number : 34 Question Id : 5330721783 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What are the advantages of using Cloud Computing word processing software ?
(A) The user does not have to install word processing software on the computer.
(B) The user does not have to allocate space to install software in the hard disk.

(C) Storage space to save the document is provided by the cloud provider. The user can open or
edit the document from any computer which has Internet facility.

(D) If the user has slow Internet connection, then he/she would not face any problems accessing
or downloading his/her documents.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (B), (O) and (D) Only

(4) (A), (B) and (C) Only

Question Number : 34 Question Id : 5330721783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FARE FT I TG TiRerR % WA F F1-31 &1 € ?

(A) W F FHE R g WAfET Sireaar yfaweifu 7 & e 2

(B) AR T WiwzeRR i 1 & fou e fewr-—H A seEfed 721 e g 2|

(C) v =i Gifem TaA B YR TN F8E Wer YoM Hdl €| e see gfan arer et oft
FU H Yor@l Sl @il SAYe Hurfed T Hehel 2|

(D) afe gEER 1 3202 FAFE i 2, 91 Y 199 Jordl a9 TR d SAYel 3¢ SR I H I g
&l 2 |

= feu U fomredi # & W& I A =TI FY

(1) e (A) 3R (B)

(2) = (A) 3R (C)
(3) = (B), (C) 3 (D)
(4) = (A), (B) IR (O)

Question Number : 35 Question Id : 5330721784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Initiatives in Higher Education) (Description)
(A) GIAN (I) Translation of research knowledge into viable
technology (products and processes)
(B) IMPRINT-2 (II)  Achieve three Cardinal principles of Education policy
namely, access, equity and quality
(C) DIGILOCKER (IIT) Tap the talent pool of scientists and entrepreneurs
internationally
(D) SWAYAM (IV) Issuance and verification of documents and

certificates in a digital way
Choose the correct answer from the options given below :
(1) (A, (B1), (O-(I), (D)-(IV)
@ (A, B)-0), (C)HIV), (D))
(B) (A, (BRI, (O-(11), (D)-(IV)
(4) (A, (B)D, (C-IV), (D))

Question Number : 35 Question Id : 5330721784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e )
il - 1 T - 11

( == fomer o wget ) ( fererroT )
(A) A (Hemue.) () i S o1 oAderd Ureifiehl (3e 9 9fhand) # sfawm
(B) 3fFge-2 () Toen fifa & &9 qorga fosidi-s9rmy, e o qoEs =
T FAl
(©) fesfars (L) STAErg WX W AR 9 el & Tfas e & T@e
(D) =4 (WEFUIRTTH.) (V) fesfiea adF ¥ yordi 9 wHmosi sl St T 9 ST T
T

== feu o foshed ®§ 9 W& IR F =TI HIGC ;
(1) (A)-(IL), (B)-(I), (©)-(1), (D)-(IV)

2 (A1), B)-(1), (O~1V), (D)-(1)
(3)  (AHD), (By-(I), (O)-(I), (D)-(IV)
(4) (A, (B)-D), (O-(1V), (D)(I)

Question Number : 36 Question Id : 5330721785 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Based on the source of their food, organisms occupy a specific place in the food chain, known as :
(1) Trophic level

(2) Standing crop

(3) Top level organism

(4) Species level

Question Number : 36 Question Id : 5330721785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T W % BT o AR W @ e # sial 5 ek fafere e g ® s e v F e @
(1) et =R

2 T
(3) Y wEE e
(4) Sftasid T

Question Number : 37 Question Id : 5330721786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a primary air pollutant ?

1) COo
2) NO
(@) O,

4) SO,

Question Number : 37 Question Id : 5330721786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=1 § | 1 uF mufas 9m yguE T § 7
1) Co

(2) NO

(3) O3

4) SO,

Question Number : 38 Question Id : 5330721787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following gases in ascending order of their global warming potential (GWD).
(A) CO,

(B) CH,
(C) SF,
(D) CFC-11
E) N,0

Choose the correct answer from the options given below :
(1) @A), (B) (O), (E), (D)
(2) (A). (B) (E), (D), (O)
(3)  (B), (©) (A), (E), (D)
(4) (A). (E) (B), (D), (O

Question Number : 38 Question Id : 5330721787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et i <1 St afveer araa Suferar & sTiE sha § sgafierd Sifse :

(A) CO,
(B) CH,
(C) SF,
(D) CFC-11
(E) N,O

= feu mu fasedi ¥ | W& I T 7 FHIGC
(1) (A (B) (O, (B), (D)
(2 (A)(B) (B, (D). ©
(3) (B) (© (A), (E), (D)
@) (A), (B B), (D), ©

Question Number : 39 Question Id : 5330721788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are global scale Phenomenon ?
(A) Ozone layer depletion

(B) Global warming

(C) Forest Fire

(D) Sea level rise

(E)  Air pollution

Choose the correct answer from the options given below :
(I) (A), (C) and (D) Only

() (A), (B), (C) and (D) Only

(3) (B, (C) and (E) Only

(4) (A), (B) and (D) Only

Question Number : 39 Question Id : 5330721788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 & @ BF-H YHead W H TREeA 2
(A) S 9 o

(B) dfYar A

(C) =&

(D) WIR TR H g

(E) =g HgH™

e feu T foreredl & 9 T S F = T
(1) Fd (A), (©) R (D)

(2) F=@ (A), (B), (O) 3 (D)
(3) @ (B), (C) #H (E)
(4) E (A), (B) ¥R (D)

Question Number : 40 Question Id : 5330721789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(International Meetings) (Key objectives)
(A) Kyoto protocol (I) Global warming
(B) Montreal protocol (II) Biodiversity conservation
(C) Rio Summit (IIl) Ozone depletion
(D) Paris Agreement (IV) Solar Alliance

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (ORI, (D)-(IV)

2 (A1), (B)-1), (©)-@), (D)-1V)
() (A)-(), (B)-(D), (O-(IV), (D)-(IT)
() (AHIV), (B)(1D), (O)-(1), (D))
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Question Number : 40 Question Id : 5330721789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 136 |19 gt - 1 e e )
et - 1 et - I

(feiedia e ) (7 R=¥a)
(A) IR YrEreTe () Sfs
(B) Wifzad dreieTa (1) Stafefawar e
() Treh forer Trer (L) SIS &for
(D) uftw wsiar (IV) HR 4y (Tems)

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(III), (O)(IT), (D)-(IV)
(2) (A, (B)-(I1D), (C)-(1), (D)-(IV)
(3)  (A)-(II), (B)-(D). (O-(IV), (D)-(IT)
(4)  (A)-(1V), (B)~(II), (O)~(1), (D)-(11I)

Question Number : 41 Question Id : 5330721790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing open Universities according to their year of establishment in Chronological

order (Older - New) :

(A) Yashwant Rao Chavan Maharashtra Open University
(B) Karnataka State Open University

(C) U.P. Rajarshi Tandon Open University

(D) Kota Open University

(E) Madhya Pradesh Bhoj Open University

Choose the correct answer from the options given below :
1) (A (B), ©), (D) (E)

2) (D) (A) (B), (B) (O

(3)  B), (©) (E) (A), (D)

) D) (A), (B), (O), (E)

Question Number : 41 Question Id : 5330721790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafes g favafaareal +1 TFT ®WNUA-99 F FAFAHEAR FAftgqd FISC
(90 | 74 & FH H):

(A) TS =ee Henre e fovafeemea

(B) AEH T T Tava Tammem

(C) 7. usifd Z=4 g favafaea

(D) =hler o favafeaerea

() WA Yeu1 9 waa favafaenmea

49 fau 7o fawredi ¥ ¥ WE S F 999 FIfAU ;

(1) (A), (B), (O), (D), (E)
(2 (D) (A) (E), (B) (C)
(3)  (B), (O) (E), (A), (D)
4 (D) (A), (B), (C) (B)

Question Number : 42 Question Id : 5330721791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(MOOCs Quadrant) (Component)
(A) Quadrant I (I) e-Tutorial
(B) Quadrant II (I1)  e-Content
(C) Quadrant III (III) Web Resources
(D) Quadrant IV (IV) Self Assessment

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2)  (A)(D), (B)-(IIL), (C)-(I), (D)-(IV)
(3) (A1), (B)-(V), (O)-(I), (D)~{IL)
(4)  (A)-(IV), (B)-(1), (C)-(IM), (D)-(I)

Question Number : 42 Question Id : 5330721791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

(YT =T ) (o2 )
(A) et () 3-Toemrl
(B) =t II () E-foawa-a%
(C) = Il (II1) =F O
(D) =AT IV (IV) =E-TediFa

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(1L), (O)-(11L), (D)-(1V)
(2)  (A)-(D), (B)-(IIT), (C)-(I), (D)-(IV)
(3)  (A)-(1D, (B)-IV), (O)-(1), (D)-(IIL)
(4)  (A)-LV), (B)-(1), (C)-(LL), (D)-(11)

Question Number : 43 Question Id : 5330721792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where did nuns and monks meditate, debate and discuss with learned for their quest for knnwledge ?
(1) Monasteries

(2) Basadis
(3) Churches
(4) Ghatika

Question Number : 43 Question Id : 5330721792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fuegforat wd fueg o1 I % e & ford el W eAmE, o fagri & e ae-dare vd faan-fans
FA 42

(1) foerd

(2) wHied |
(3) frReERi §
(4) wfesw H

Question Number : 44 Question Id : 5330721793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following themes of Sustainable Development Goals according to their goal number
n i_ncreasi_ng order.

(A) Gender Equality

(B) Zero Hunger

(C) Peace and Justice

(D) Climate Action

(E) Quality Education

Choose the correct answer from the options given below :
(1 ®B), (E) (A), (D), (O)

(2 (A). (B), (D), (O), (E)

3)  (©), (D) (A), (E), (B)

(4) (B), (A). (B), (D), (C)

Question Number : 44 Question Id : 5330721793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad fawm el & fefatag fawai (o) #1376 @80 9@ & 991 9ed 80 %0 ¥ oFafed
I
(A) Sfirr (Sfer) FuEE

(B) YEw{ o wHIfE
(C) wfd o =m
(D) SIAIH-FHAR
(E)  TUreTIeR e

e feu o fawedi § | WE I F =T FIfAT
(1)  (B), (E), (A), (D). (C)
(2)  (A), (B), (D), (O), (E)
(3) (©), (D), (A), (E), (B)
4) (B), (A), (E), (D), (O)

Question Number : 45 Question Id : 5330721794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of following are the parts of AYUSH undergraduate education ?
(A) Siddha

(B) Sowa - Rigpa

(C) Yoga-Shastra

(D) Homoeopathy

(E) Sanjeevani

Choose the correct answer from the options given below :

() (A), (B) and (E) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (©) and (E) Only

Question Number : 45 Question Id : 5330721794 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

frfefaa & | $F 319y (TR, 3,091, ) [&-Fas fas F 9 € ?
(A) faz

(B) Hraw-fm

(C) AT

(D) el

(E) wsfrat

= feu o fawredi W | WE I F =TI FIfSU

(1) e (A), (B) 31 (E)

(2) e (B), (C) ¥R (D)

(3) A (A), (B) 3R (D)

(4) A (A), (C) 3 (E)
Sub-Section Number : 3
Sub-Section Id : 53307275
Question Shuffling Allowed : No

Question Id : 5330721795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidya_nath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered to be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition- This is specia]_ly so in the case of games like hockey, archery
and cricket at both the national and the international levels.

Sub questions

Question Number : 46 Question Id : 5330721796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The organisation of archeological workshops has helped to create awareness about :
(1) Arts and Crafts

(2)  Built heritage

(3) Bamboo and woodcraft

(4) Games and sports

Question Number : 47 Question Id : 5330721797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jharkhand has become a favourite destination for visitors from India and abroad because of its :
(I) Stone carving activities

)  Mineral wealth
(3) Natural attractions

) Central location

Question Number : 48 Question Id : 5330721798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following activities is NOT included with state government initiative for enrichment

?

(1) Bamboo and woodcraft
(2) Tribal painting

(3) Stone carving

(4) Rock Painting

Question Number : 49 Question Id : 5330721799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which combination of sports has [harkhand gained national and international recognition ?

(1) Cricket, archery and hockey
(2) Cricket, archery and shooting
(3) Croquet, Cricket and archery
(4) Cricket, football and hockey

Question Number : 50 Question Id : 5330721800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which city was once considered the hub of education in Jharkhand ?

(1) Deoghar

(2) Ranchi
(3) Jamshedpur
(4) Koderma

Question Id : 5330721795 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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e Trenier Rt ufeu 3iiv 39k @1g U9 T Uyl o I i

T Yok U9 | GHfed g o qvEd, FEve ekl afed gl &9 # gad wfa s @ B 1 O i A
YRIEY o HaY H YUdcid FEYTesl o SATArs gRI U4 i Sidl o aild STReehdl 3099 & o 39 JamH fergrg
¥ Y TeEF gUE |

T SHAT 1 Fenedi @R g & Hada ¥ fau 759 wig soae safed 3 & fau uea of =5 2 §)
9T wTepfaes stera fafa & off 5 T S oin foewll & wdeei % fou v fig vided wa a9 T | S S
ey, Grewhe, HeF Jiy, 0 ufee T8 Fo ToF € el 9 g ¥ gdes o € | 159 TR o7fen fag e ol
Torem el & WY-WY a9 9 H1S ew = 99g A oY fav w9 8 genag €1 e & & § v awa |-
T[oTEr o1 ForeT =R o WA ST STel YT UE U 9 YA: 391 Giaeet A T E | Wordhs o &5 H o T
J T T ure S U a9y o e, et o forthe S wel % ume H U 9 Sfaiig T W e
|

Sub questions

Question Number : 46 Question Id : 5330721796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R ErEeensl & o |3 e 8§ frges gey 1 sireshar 30 A § Wer # § 2

(1) e = forey

(2) fafa =ee

(3) G T HISH
)

WA o WAFS

Question Number : 47 Question Id : 5330721797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o I forgs R EvE aRa @R fessh | ydes! o fou v g e Toe 59 T 2
(1) Tomer-aerreh framrem

(4

(2) @S HEl
(3) TERfde AR
(4) FHEMA sEfeafa

Question Number : 48 Question Id : 5330721798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & 7 @1 o e dada ¥9 50 9 #1 ved § aftafed @ 2

(1) =9 9 Frefeeg
(2) enfew fesere
(3) o emmft

(4) T fesmERen

Question Number : 49 Question Id : 5330721799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gorEs o 1 0 § o waem o e 3 U 9 A o e #5802

(1) forRe, dHerst 3 et
(2) TordRe, derst a gfen
(3) e, fFwe T Trem
(4) TFFe, Fea= e
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Question Number : 50 Question Id : 5330721800 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AEve H = § | i |1 98l U GHT 9L TRe R Shes | S o ?

(1) <o
(2) U=
(3) SHEIRH
(4) ST

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Social Work
53307226
2
Online
Mandatory
92
92
200
0
1
53307276
Yes

Question Number : 51 Question Id : 5330721801 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following reform movements objected to the workship of idols ?

(1) Prarthana Samayj

(2) Brahmo Samaj

(3) Arya Samaj

(4) Shakti Shodhak Samaj

Question Number : 51 Question Id : 5330721801 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

=1 H 9 fore GuR strErer A wfagen @1 ey fepa a2

(1) W1 ST

(2) R HAE

(3) & g

(4) e Sieres gwTSt
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Question Number : 52 Question Id : 5330721802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first world report on disability came in the year :

(1) 2009
() 2010
(3) 2011
4) 2012

Question Number : 52 Question Id : 5330721802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e (feafafa=t) = gov fave wiqae fa o 9 o = a1 on ?

(1) 2009
(2) 2010
(3) 2011
(4) 2012

Question Number : 53 Question Id : 5330721803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Calculate mode from the following data of marks obtained by 10(ten) students :
10, 27, 24, 12, 27, 27, 20,18, 15,30 :

1) 10
@ 27
(B) 24
@) 12

Question Number : 53 Question Id : 5330721803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

10(5®) foenfi=i gr el & 71 2Rl § sgers (Hre) & T whifse
10, 27, 24, 12, 27, 27, 20, 18, 15, 30 :

1 10
@ 27
(B) 24
4 12

Question Number : 54 Question Id : 5330721804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The class interval of the following classes is :
10-20, 20-30, 30-40, 40-50

(1 10
2 20
(3) 30
4) 40

Question Number : 54 Question Id : 5330721804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e =it o1 = efavre fohamn €2
10-20, 20-30, 30-40, 40-50

1 10

2) 20

@) 30

4) 40

Question Number : 55 Question Id : 5330721805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence how an organisation can initiate the process of community involvement in
development activities :

(A) Sharing the findings with community

(B) Implementation of the programme(s)

(C) Diagnosis (know the community)

(D) Monitoring and Feedback

(E) Establishment of mission/objectives

Choose the correct answer from the options given below :
(1) (A), (B), (B), (C) and (D)

(2 (A), (Q), (E), (B) and (D)

(3)  (©), (A), (E), (B) and (D)

(4) (Q), (B), (B). (A) and (D)

Question Number : 55 Question Id : 5330721805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Torelt HreA g faskre Haeh forarrerd # |rgiias FTeRT ol Uikl STRY 4 & 11 Feri %1 98 &0
T safterd Hifau :

(A) GROTH} 1 GHEE o ¢ HE Sl

(B) ehTEsEHl w1 ferarara

(C€) faem (wuem =i sifw)

(D) Trmrt 9 yfegfee

(E) THem/3gae =it T

Hr< feu u foekedi H 9 Wat I A TG R

(1) (A), (B), (B), (C) 3R (D)

)
2) (A), (O), (B), (B) R (D)
(3) (), (A), (E), (B) ¥ (D)
@) (), (B), (B), (A) 3 (D)

Question Number : 56 Question Id : 5330721806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Participatory Rural Appraisal (PRA) approach was developed by :
(1) Paulo freire

(2) Md. Yunus

(3) John Rawls

(4) Robert Chambers

Question Number : 56 Question Id : 5330721806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tfayf TrHr edied (WeTRe) gfewin fre § ¥ e gr faswfaa foran man an ?

(1) i waL
(2) HrewE I3E
(3) A T
(4) TEE <dEH

Question Number : 57 Question Id : 5330721807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following author first coined the term ‘intersectionality” ?
(1) Kelsey Ulrich

(2) Kimberle Crenshaw
(3) Tim Wise
(4) Michelle Alexander

Question Number : 57 Question Id : 5330721807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 # ¥ T oivgeh 7 ' SerHevTiard] | Ug S HagyH yidqarea o1 ?
(1) ey 3f"

(2) Tormare sheum

(3) feuars

(4) T woERlet

Question Number : 58 Question Id : 5330721808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following book is authored by Lena Dominelli ?
(1)  Blackberry Winter

(2) Anti-oppressive social work theory and practice
(3) Human needs : Overview
(4) Social work in a sustainable world

Question Number : 58 Question Id : 5330721808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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form S 3 et § @ B T o 2

(1) wisRadl famt

(2) UIIHUHE HigeEe S Ug Ufaed
(3) T IEH : aEry

(4) HEE Tk T T TERAad dee

Question Number : 59 Question Id : 5330721809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Article of the Universal Declaration of Human Rights talks about the right
to life, liberty and security of a person ?

(1) Article:1
(2) Article:2
(3) Article:3
(4) Article: 6

Question Number : 59 Question Id : 5330721809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HEEIEHR ot arasfifaes =von & f=1 8§ § 909 si=oe § =afad % sied, e 9 e F Afen
&1 IeoE 2

(1) =% 1

(2)

(3) SIT=% 3
(4) SIT=T 6

Question Number : 60 Question Id : 5330721810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NSSO stands for :
(1) National Sample Survey Office

(2) National Sample Survey Organization
(3) National Statistical Survey Organization
(4) National Science Survey Office

Question Number : 60 Question Id : 5330721810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T UH TF &0 FH Y0 E

(1) ¥oa T9a1 94 Sy

() Fyre fua 99 smiAgseE

() e wfefesa od smireseE
(4) I HEH Hd AR

Question Number : 61 Question Id : 5330721811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following principles of management states that each employee should report to
one superior ?

(1) Centralization

(2) Span of Control

(3) Unity of command

(4)

Division of Labour

Question Number : 61 Question Id : 5330721811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 § 9 yeivm & foha fogia & oo v FHerl &1 v gl (gaier) =t e e =ifen ?
(1) F=rR

(2) T =y fergfa
(3) A H THAl
(4) g9 faursH

Question Number : 62 Question Id : 5330721812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term ‘collective bargaining” was coined by :

(1) Allan Flanders

(2) Sidney and Beatrice Webb

(3)  John Dunlop

(4) Derek Bok

Question Number : 62 Question Id : 5330721812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"gmfesk dIgEERl’ (Feifda arE=T) 98 1 T foHE R ot TS o ?

(1) TeH wied

(2) foe 9 iufm o
(3) S =T

(4) SF Ah

Question Number : 63 Question Id : 5330721813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the abbreviation POSDCORB, CO stands for :

(I) Counselling
(2) Command
(3) Coordinating
(4) Collaboration

Question Number : 63 Question Id : 5330721813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hfeifa ‘o 371 ug € 9 3 @R &’ (POSDCORB) | €isf (CO) w1 319 € :

(1) =wEHEfET
2) HHIS

(3) wsfEAfET

(4)  HIEIEHE

Question Number : 64 Question Id : 5330721814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does ‘R" stands for in the acronym SMART in the context of program objectives ?
(1) Reliable

(2) Relevant
(3) Resourceful
(4) Responsible

Question Number : 64 Question Id : 5330721814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FTaFT Seevdl % Heof # uftanli v o (vHuHuERd) W R @ s ;R ?
(1) femgss (fawea)

(2) YerEe (wrEfTER)
(3) TEEEE (|EE H99)
(4) el (STEET)

Question Number : 65 Question Id : 5330721815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Ministry looks after the grievance and regulation of FCRA ?
(1) Ministry of Social Justice and Empowerment

(2) Ministry of External Affairs

(3) Ministry of Corporate Affairs

(4) Ministry of Home Affairs

Question Number : 65 Question Id : 5330721815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 H & e HAeE UHEHISRT (FCRA) &1 ferpradi & fafeme = daar €2
(1) HrmfSTe =IE 9 SAfeRi T

(2) fagw e
(3) U A HACH
(4) & HAeH

Question Number : 66 Question Id : 5330721816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who among the following psychologists has defined personality as “dynamic organisation within
the individual of those psychophysical systems that determine his unique adjustment to his
environment” ?

(1) Guilford
(2) Carl Rogers

(3) Allport

(4) Abraham Maslow

Question Number : 66 Question Id : 5330721816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o § fory waraafes 3 =t =1 s & g 39 gAeenfas yonferdi & i e S 396
Tt % ufa s fafire warEeE 1 it @ €7 % w9 # gRafim e &2

(1) TrewE
(2) T TSTH
(3) TR

(4)  eaTEH W

Question Number : 67 Question Id : 5330721817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Range’ is defined as :

(I) Aggregate of all the values in the distribution

(2) Middle values of the distribution

(3) Difference between the largest value and smallest value in the distribution
(4) Value which has maximum frequency in the given distribution

Question Number : 67 Question Id : 5330721817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

' &1 1 = | ofonfua e T e

(1) oo #§ gwed gedi &1 gl 4

(2) Teoron =1 Heg g

(3) Tomu ® @AW U@ geaH Hod & o™ # SR
)

(4) =% v fowt vew faaw | sifteraw smafa @

Question Number : 68 Question Id : 5330721818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Article of the Indian Constitution talks about Governance in the Fifth
Schedule Areas ?

(1)  Article - 243
(2) Article - 244(1)
(3)  Article - 244(2)
(4)  Article - 241

Question Number : 68 Question Id : 5330721818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YR W™ & = 8 § 31 9 o= | gradl oTgEt &5 § e & day § Soon € 2
(1) SIT=% - 243

(2) ST - 244(1)
(3) HT=T - 244(2)
(4) ITT=T - 241

Question Number : 69 Question Id : 5330721819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Community work in the social planning model refers to :

(1) A worker or an agency undertakes an exercise to evaluate the welfare needs and existing
services.

(2) A worker or an agency undertakes an issue-oriented work to generate a collective movement.
(3) A worker or an agency undertakes work to mobilize public opinion on a social issue.
(4) Aworker or anagency undertakes work to mobilize global fund to overthrow the government.

Question Number : 69 Question Id : 5330721819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st TsH wiea H qrEias S 1 Gobd 7 9 ®
(1) 1S SFEwdl a1 TSI FHedT TEvasas o faeme Janed 1 aeher Fd &1 F14 219§ o ¢ |

(2) RIS FTHFA A1 ToIE AHfedh SR 301 HA o Heal @ Hd ey H o © |
(3) RIS FTEHAl A1 Teidl foREl TrifeieR foaed W SHEa i e w61 FE wd H ol 2
(4) IS FwEFA A1 THET HERN I & TS FA & e afvasw fafy s o w5 g § o €

Question Number : 70 Question Id : 5330721820 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a factor responsible for ‘organizational entropy” ?
(I) Declining performance and management failure

(2) Lack of appropriate set of rules and procedures

(3) Effective personnel policies

(4) A high rate of turn over

Question Number : 70 Question Id : 5330721820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o | #1F v FRaE miefE fAfdee’ (srigsvre vard) 8 STwer T8 § 2
(1) B9 Ye9H 9 JauH fordwera

(2) Traeil 9 wieraneti & wqfee |92 &1 svE

(3) WuET e Aifaar

(4) FEAR F TH R

Question Number : 71 Question Id : 5330721821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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International Labour Organization (ILO) was formed in the year :

(1) 1945
@ 1917
(3) 1929
4) 1919

Question Number : 71 Question Id : 5330721821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT g0 Gred (M. e ) T e H O form od g eff 2

(1) 1945
@) 1917
(3) 1929
4) 1919

Question Number : 72 Question Id : 5330721822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following coined the term person-in-situation 7
(1) Charles Cooley

(2) Florence Hollis
(3) Mary Richmond
(4) H. Bartlett

Question Number : 72 Question Id : 5330721822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fearfa # =afe (THA-39-Taguem) us =i = 9 foree gfaafea feran ean?

(1) = Fd
(2) waE gfed
(3) Wi fame
(4) TE. 9w

Question Number : 73 Question Id : 5330721823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following tests the ‘goodness of fit" of a distribution ?

(1) F-test

(2) Z-test

(3) T-test

(4) Chi-square test

Question Number : 73 Question Id : 5330721823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1§ | e s, faaror &6 e & 3T’ (goodness of fit) T FEWT § ?

(1) U% - qdem

(2) SIS - wdEm

(3) & - Tl

(4) ST GO

Question Number : 74 Question Id : 5330721824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Article of the Indian Constitution talks about complete abolishment of untochability ?
(1) Article - 15

(2) Article - 16
(3)  Article - 17
(4) Article - 19

Question Number : 74 Question Id : 5330721824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Hiaem & 7 § 9 %9 8 sf=9e H S2q9adl o U 39 ol Ieoid 2
(1) 3T=% - 15
(2) =% - 16
(3) &8 - 17
(4) 3T - 19

Question Number : 75 Question Id : 5330721825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Development as Freedom” is written by :

(1) Jean Dreze

(2) Amartya Sen

(3) Abhijeet Banerjee

(4) Aruna Roy

Question Number : 75 Question Id : 5330721825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ez offE wign' fre H 9 s femn 72
(1) =i

(2) A FH
(3)  AfSSia sl
(4) =TEN I

Question Number : 76 Question Id : 5330721826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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N.C.W. stands for :
(1) National Council for Women
National Commission for Women

)
(3) National Cooperative for Women
) National Committee for Women

Question Number : 76 Question Id : 5330721826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy FT Y ET E

(1) “Ha FEfEa wE giF
(2) AAYHS FHYE BN THA
(3) YA HITRfed FR FHA
(4) YA FHA B THA

Question Number : 77 Question Id : 5330721827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who founded the Neighbourhood Guild, the first settlement house in the United States ?
(I) Mary Richmond

(2) Jane Addams
(3) Zilpha Smith
(4) Margaretta Williamson

Question Number : 77 Question Id : 5330721827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 ¥ 9 T 3 993 W | g9d Afyery T8 Jeigs fiies & T i off ?

(1) #i fewe

() SETEH

(3) foem fmy

(4) wrE fafaamsa

Question Number : 78 Question Id : 5330721828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Communist Manifesto” was first pub]_ished in the year :

(1) 1867
@) 1917
(3) 1848
(4) 1945

Question Number : 78 Question Id : 5330721828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e Wit TEgem fre e ge 2

(1) 1867
) 1917
(3) 1848
(4) 1945

Question Number : 79 Question Id : 5330721829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Social insurance can be defined as :

(1) Contributions of the workers, employees and the state.

(2) Relieve the suffering caused by age.

(3) Financial aid granted by the government.

(4) Contributions for the distitutes.

Question Number : 79 Question Id : 5330721829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qrferers s =1 fe w9 ° gRerfya fofa o1 9 €
(1) FHERI, A 9 T4 F SvRH

(2) &Y % HAOEH A F= F ey T
(3) HIEHR BN Yed fasi Her
(4) Trufgal &g sfvem

Question Number : 80 Question Id : 5330721830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following legislation provides for certain percentage of government jobs for

persons with disabilities ?

(1) The Persons with Disabilities (Equal Opportunities Protection of Right and Full Participation)
Act

(2) The Right of Persons with Disabilities Act

(3) The Employment of Disabled Persons Act

(4) The Disabilities Act

Question Number : 80 Question Id : 5330721830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o & o | faum & froea (feafafas)) sfamd o s AfEl § ey gfowd o geum €2
(1) Troea =afE (g sEr, afaer geerm g gl aeier) sty

(2) Trvem =afaadl & siferar stfafam

(3) Trwrem =afgaEl w1 e sttt

(4)  TroreRaan srfuafTem

Question Number : 81 Question Id : 5330721831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Type of research in which a researcher or team of researches combines elements of qualitative and
quantitative research apprnaches 1s called :

(1) Action Research
(2) Case Study

(3) Mixed Method
(4) Survey Method

Question Number : 81 Question Id : 5330721831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WY F 39 YFR F1 79 F F ;0 w1 o € ol i shereral sieen siusdiell o Uk <o T 9
AfCATOITereR Wire SUNTHI & deall w1 TS il § ?

(1) frafre iy (T fwd)

(2)  TEW AT (FY AIA)

(3) fafga fafu

(4) weagr fafy

Question Number : 82 Question Id : 5330721832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In India the first medical social worker was appointed in the year 1946 in :

(1) Tata Memorial Hospital, Mumbai
(2) Safdurjung Hospital, Delhi

(3) GTB Hospital, Delhi

(4) ].J. Hospital, Mumbai

Question Number : 82 Question Id : 5330721832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WRa ¥ gy fafwcdta qmfas s w1 1946 H f7=1 § 9 we1 Frgaa T mn o172
(1) <211 HeiEa e, qag

(2) HEREEET Feqare, foee
(3) S 21 eregare, oot
(4) SIS YA, e

Question Number : 83 Question Id : 5330721833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of items sold by a SHG in five days in an exhibition are :
20, 30, 15, 10, 40. What is the average sale ?

1) 115
@ 05
B) 25
4) 23

Question Number : 83 Question Id : 5330721833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T EEEEA 9 (THUHS) (SHG) 8N 9ewH & uie fei # s 78 aegeli i wem €
20, 30, 15, 10, 40. 2frga faert forar 2

1) 115
2) 05
@) 25
4) 23

Question Number : 84 Question Id : 5330721834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is credited for introducing ‘social diagnosis’ approach in social work

practice ?
(1) James Adams
(2) Mary Richmond

)
(3) G. Konopka
(4) W.A. Friedlander

Question Number : 84 Question Id : 5330721834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qHTS! F A | wmifsE Hem’ (9e SEvEy) sfed SRy F3 F 99 T J 1 R g s

(1) ™ TE™
(2) #i feme
(3) i, SAEH
(4) T=YU HEdt

Question Number : 85 Question Id : 5330721835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which year, the Royal Commission on Labour was appointed to investigate the industrial
conditions in India ?

1 1927
() 1928
(3) 1929
4) 1930

Question Number : 85 Question Id : 5330721835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R § i ufifrafei =7 sia-veae &3 % fau om g6 e svE #1 gl fE ad =5 T
off 7

1 1927
() 1928
(3) 1929
4) 1930

Question Number : 86 Question Id : 5330721836 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Who from the following is a famous eco-feminist ?
(1) Uma Chakravarti

(2) Leela Dube

(3) Vandana Shiva

(4) Arundhati Roy

Question Number : 86 Question Id : 5330721836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o 4 =1 v yfag THievEe TR § 2

(1) 3|1 =ehadi
(2) frem g

(3) == feren
(4) or&yfa 99

Question Number : 87 Question Id : 5330721837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The right of widows to remarriage was advocated by :
(1) Raja Ram Mohan Roy

(2) Vijayalaxmi Pandit
(3) Ishwar Chandra Vidyasagar
(4) M.G. Ranade

Question Number : 87 Question Id : 5330721837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faerenaii & yafdem & siferer #t Tl fry § 9 fopem a0 ot 2
(1) =T W A W

(2) fasmaed dfea
(3) 3R 9% formamr
(4) THS TS

Question Number : 88 Question Id : 5330721838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Andre Gunder Frank and Walter Rodney are the leading proponents of :
(1) Theory of Urban bias

(2) Dependency theory

(3) Modernization theory

(4) Linear theory

Question Number : 88 Question Id : 5330721838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T Tt ¥k TR Aot AT A & foraer ool sgaeral €2
(1) el yaine fagid

(2) sngFal fagi
(3) snyfrET e
(4) @™ fagia

Question Number : 89 Question Id : 5330721839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Robert Redfield, the term ‘small community’ is used to describe which community ?
(1) LGBTQAI community

(2) Agricultural community

(3) Tribal community

)

Gated community

Question Number : 89 Question Id : 5330721839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 Yehiee & AR, "o ggerd’ (We ) ug e 1 O fem gmEr &% 9l % faw wEm

A E ?

(1) USSSEPEETE SeM
(2) w@ffet guEE

(3) SIS WG

(4) @@ (Tfee) TEE

Question Number : 90 Question Id : 5330721840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a condition conducive for collective behaviour ?
(1) Institutionalised forms of segregation and exploitation

@)

(3) Emergence of new leader

(4) Individual goal and achievement

Dissonance in sccietal values

Question Number : 90 Question Id : 5330721840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o & = = feurfa |nfes =a9er @ 9 T € 2
(1)  YYFRIT o 90 o HEIAT €9

(2) HrEfSTeR HEdl | STET
(3) QAT 1 SAfaHa
(4) oAfeRTF @8 9 ST

Question Number : 91 Question Id : 5330721841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the five stages of child development in an order of developmental stages :

(A) Infant

(B) Toddler

(C) Newborn

(D) Preschool

(E) School Age

Choose the correct answer from the options given below :
(1) (©), (A), (B), (D) (E)

(2 (A, (©), (B), (D), (B)

(3 (B, (D) (Q), (A) (B)

4) (B), (A), (D), (O (E)

Question Number : 91 Question Id : 5330721841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot foekrg % e e <ol ot faeraTenss =RoT & SHHER Seferd Hifag
(A) g
(B) #=H (3rgen)

(C) =asmd
(D) foerera-gd
(E) fommerd &mg

99 fou 0 fasredi O 9 W& I H F59H FHIfAC
(1) (©), (&), (B), (D). (E)
(2 (A, (©), (B), (D) (E)
(3) (B, (D) (O), (A), (B)
4) (B), (A), (D), (O), (B)

Question Number : 92 Question Id : 5330721842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al'range the step-by-step process for recruiti_ng a human resource of an organization.

(A) Screening and shortlisting

(B) Evaluation and offer of employment

(C) Identifying the hiring needs

(D) Interviewing

(E) Preparing the job description

Choose the correct answer from the options given below :
(1) (©, (A), D), (E), (B)

@ (©) () (A), (D) (B)

@) (A) (D), (©), (E) (B)

@) (&) (©), D) (E) (B)

Question Number : 92 Question Id : 5330721842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A H e WA 1 9l 7 TG AR Rl e hife
(A) B 3 =g (sefafeT) g= s
(B) HediwA 9 farsH & y%E
(C) THErsE (e=fin) =1 steErvawaist it 9=
(D) HIEEHR
(E) T4 foaeor qam &
9 fou o fashedi H | W& I FH FFH FIfAC
1 (©, (A), D). (B), (B)

2 (©, (B)(A) (D) (B)
@) (A), (D), (©), (B), (B)
@) (A) (O, (D), (B), (B)

Question Number : 93 Question Id : 5330721843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Accordmg to W.W. Rostow, countr‘y’s economy and social progress goes I'_hnugh series of five
stages. Arrange the stages in proper sequence :

(A) The traditional society

(B) Drive to maturity

(C) Take-off

(D) Period of high mass consumption

(E) Pre conditions for take-off

Choose the correct answer from the options given below :
(1) (A), (B), (O), (E), (D)

(2 (A, (Q), (B), (D) (E)

3 (A, (E), ©), B), (D)

(4) (A), (D), (B), (O), (E)

Question Number : 93 Question Id : 5330721843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tod, S50, TeTa o STER <31 k1 stefeeren 9 TSl o1 kg uie =Rol 61 SEe F A d 2|l 3
=R ! Hel FH H FAfed Hif

(A) TRETT AT

(B) Hftwaarl whl R UET

(C) WA
(D) 3= 3L F FA
(B) W T T ¥

= feu T foskedi § 9 Wel W FH T4 HIC ;
(1) (A), (B), (), (E), (D)
(2) (A), (©), (B), (D), (E)
(3) (A), (E), (), (B), (D)
(4) (A), (D), (B), (O), (E)

Question Number : 94 Question Id : 5330721844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the 'social case work” process in a sequence :
(A) Study

(B) Follow up

(C) Diagnosis

(D) Treatment

(E) Intake

Choose the correct answer from the options given below :

1) A), (©), (B) (D) (E)

2 (B, (O (A), (B), (D)
(3) (A, (B), (©), () (D)
@) (), (A), ©), D) (B)

Question Number : 94 Question Id : 5330721844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Serifoer quTS H WA F) FHEER St HT
(A) AT

(B) Sl FHaTE

(©) frem

(D) STER

() afmiem

= feu o fasredi § | Wé& I F T2 HIfAT
(1) (A, (©), (B), (D), (E)

(2) (B), (C), (A), (B), (D)

(3) (@A) (B), ©, (B), (D)

4)  (®), (A), ©, (D) (B)
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Question Number : 95 Question Id : 5330721845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the stages of organisational conflict as proposed by L.R. Pondy (1967).
(A) Manifest

(B) Felt stage

(C) Latent stage

(D) Aftermath

(E) Perceived stage

Choose the correct answer from the options given below :
1 (©, (A), (D), (B), (E)

2 (©). (B). (E). (A), (D)

(G)  (©, (E) (B), (A), (D)

@) (©, (D) (A), (B), (E)

Question Number : 95 Question Id : 5330721845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T2tk g2 o 71 =0l i TSR, el (1967) N Wedfad HHTHR sgaieed iy ;
(A) TFRSTFRI

(B) =Fyfa =0
(C) &g =W
(D) domH

(E)  SEFTFAAT =00
= feu o fawedi § 9 W& I H 99 FifE
(1) (©), (A), (D), (B), (E)

2 (©, (B) (E), (A), (D)
(@) (©). (E) (B), (A), (D)
@) (©, (D) (A) (B), (E)

Question Number : 96 Question Id : 5330721846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Theory of understanding causation of disease has evolved over the years. Arrange chronologically
the historical evolution of understanding causation of disease.
(A) Epidemiological Traid

(B) Multifactorial causation

(C) Miasmatic theory of disease

(D) Web of causation

(E) Germ theory of disease

Choose the correct answer from the options given below :

(1) (©), (E) (A), (B), (D)

2  (©), A), D), (B) (E)

(3)  (A), (B), (B), (©), (D)

4) (A), (©), (D), (B), (E)
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Question Number : 96 Question Id : 5330721846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I & FEERT 9E F a9 F Oga 97a F @y fowfad g1 § 1 W FEER 9@ F 9y F e
e TorshTe 1 TICTRHTTAR SFafed Hifa ;

(A) HemHI faekel

(B) WEHNEH FHRENI

(C) I =k Tamean fagia

(D) TSRO 1 S

B) T fagia

e feu o fasmedi H H W W 1 = FIfAU

(1) (©), (E), (A), (B), (D)

2 (©, (A), (D), (B), (E)
(@) (A) (B), (B). (©), (D)
@) (A) (©, D). (B), (E)

Question Number : 97 Question Id : 5330721847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the research process in a sequence :
(A) Theory

(B) Sampling

(C) Hypothesis

(D) Data collection

(E) Operationalization

Choose the correct answer from the options given below :
(1) (D), (B), (A), (O), (E)

(2 (A, (©), (), (B), (D)

(3)  (B), (A), (D), (E), (O)

(4)  (©), (D), (B), (A), (E)

Question Number : 97 Question Id : 5330721847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I T TET WEa TR i TR § i Fifd ;
(A) fasid
(B) yfe=raA
(C) dfEReTH
(D) ST
(B) WeEIEAAR (ARSI )
= feu U forredi H 9§ WE ST A =TI HY
(1) (D). (B), (A), (O), (E)
(2 (A) (O, (E), B), (D

) )
@) (B), (A), (D), (E), (O)
(4)  (©), (D), (B), (A), (E)

Question Number : 98 Question Id : 5330721848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the five faces of oppression (mild to severe) as suggested by Irish Marion Young :
(A) Powerlessness

(B) Marginalization

(C) Violence

(D) Exploitation

(E) Cultural Imperialism

Choose the correct answer from the options given below :

M) (A), (B, ©, ©) E)

@ (D) (B) (A), (B) ©

(@) (), (D) (O, (B), (A)

(4) (B), (D), (O), (E), (A)

Question Number : 98 Question Id : 5330721848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Idre & Ui =Rl w1 A AitET 9 g I T HHAER (e 9 died) g i
(A)  wfeErE

(B) HiwidieRT
(C) f&
(D) 9T

(E) WiEhids QHmsTas

Hi= feu o faspedi § 9 W& I =TI HIAC
(1) (A), (B), (O), (D), (E)

(2) (D), (B), (A), (E) (C)
(3)  (E)., (D), (©), (B), (A)
4) (B), (D) (O), (E), (A)

’
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Question Number : 99 Question Id : 5330721849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in the correct sequence the various stages of social movement developed by Armand L.
Mauss (1975).
(A) Coalescence
(B) Demise
(C) Fragmentation
(D) Institutionalization
(E) Incipiency
Choose the correct answer from the options given below :
(1) (A), (), D), (E), (B)
(2 (E), (A), (D), (O) (B)
(3) (A, (E), (©), (D) (B)
(4) (E), (B), (D), (C), (A)

Question Number : 99 Question Id : 5330721849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gmTfSteh STaTerd o fafy= =[oT &1 o+ Ua. "1l (1975) g1 fowfaa 98 #aar # sraftyd it

(A) Herad
(B) i

(C) e
(D) TR
(E) WRfweRar

= feu 7o fawredl § 9 WE I 1 =TI FifS
(1) (A), (©), (D), (E) (B)
(2) (B), (A). (D), (O), (B)
(3)  (A), (B), (), (D), (B)
4) (E), (B), (D), (C), (A)

Question Number : 100 Question Id : 5330721850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the sequence of social work paradigm since its inception :
(A) Rights based

(B) Development

(C) Charity

(D) Welfare

(E) Empowerment

Choose the correct answer from the options given below :
(1) (B, (B), (D), (O), (A)

(2 (©), (D), (B), (E), (A)

@) @A), (©), E), B), (D)

(4) (D) (A). (B), (O), (E)
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Question Number : 100 Question Id : 5330721850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa Tars T SUNTHI 1 39 YA ok ITIERH H SAaied Ty ;
(A) FAHFR-SHIR

(B) fer=rrd
(C) TR
(D) FHem
(E) SR

9= feu o faeredi § 9 W W 1 =TI FIfSU
(1) (), (B), (D), (C), (A)
(2) (), (D), (B), (E), (A)
(3) (A), (©), (B), (B), (D)
4) (D). (A), (B), (O), (E)

Question Number : 101 Question Id : 5330721851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Conducting research in social work involves a scientific process. Identify the correct answer.
(A) Review of literature

(B) Formulating a research design

(C) Formulating a research topic

(D) Data collection

(E) Analysis and Interpretation

Choose the correct answer from the options given below :

(1) (B, (A), ©), (D), (E)

2 @A), ©Q), D), (B) (E)

(3 (©) (A), (B), (D), (E)

4 (), (B), (A), (D), (B)

Question Number : 101 Question Id : 5330721851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THTS rd H I F SESH § i | 39 gfehar 9ivfon €7 frefated § 9 98 & vweE Fwif
(A) Hrfecd =1 gHia

(B) diIY sveRey =l FEqw

(C) iy = faua =1 feqo

(D) ST

(E) forgeron i =men

= feu o fasredi § | Wé I T2 HIfA

(1) (B, (A), Q. (D). (E)

(2 (A) (©), (D), (B), (E)

(3) () (A), (B), (D), (E)
(4) (), (B), (A), (D), (E)

Question Number : 102 Question Id : 5330721852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the key steps in preparing a budget for a project.
(A) Determine category-wise expenses

(B) Present the draft budget and cash flow

(C) Identify and plan activities

(D) Monitor the budget as project progress

(E) Make changes and finalize income and expenses

Choose the correct answer from the options given below :

(1) (A) (B), (©), (), (D)

2 (B). (O (D), (A), (E)
3)  (©. (B) (A), (D) (E)
@) (©. (A), (B). [E) (D)

Question Number : 102 Question Id : 5330721852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS 89 a9 AR F9 % 7 7E SRl # g8 e 1 et Fife
(A)  Avii-ar =9 1 FHuio

(B) &SI YEY o kg YaTE H Y&

(C) Torarrerdi =1 9e=i= & I

(D) @i &1 FIREAT sta ufEs 5 uafa @

(E) i & Wy o9 vd =19 &l Sifaw 9 a0
= feu U fosredi H 9 W& I A =44 Fi
(1 (A) (B), (©). (E), (D)

(2 (B), (©), (D), (A), (B)

@) (©), (B), (A), (D), (E)

@) (©), (A), (B), [E), (D)

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 60/102



8/23/24, 12:24 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Question Number : 103 Question Id : 5330721853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the five human needs as given by Abraham Maslow from bottom to top of the pyramid.
(A) Self-esteem

(B) Safety

(C) Self-actualization

(D) Love and Belongingness

(E) Physiological

Choose the correct answer from the options given below :
(1) (©), (B), (D), (A), (E)

(2 (&), (B), (Q), (D) (E)

3)  (B), (©) (A), (B), (D)

(4) (B), (B), (D), (A), (O)

Question Number : 103 Question Id : 5330721853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FSITEH HIECl 51 Yed Uit ol HHad A i {GuiHe & aa 9 ¥ & 60 § =efed S
(A) STH-FHH

(B) HEm

(C) seq-fais
(D) W99 Hay
() vmifes

T feu o faped § 9 Wal W FH T4 HIC ;
(1) (Q), (B), (D), (A), (E)
(2) (A), (B), (O, (D), (E)
(3)  (B), (O) (A), (E), (D)
(4)  (E), (B), (D), (A), (C)

Question Number : 104 Question Id : 5330721854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the formation and establishment of trade unions in chronological order :
(A) The Red Trade Union Congress

(B) The Indian National Trade Union Congress

(C) All India Trade Union Congress

(D) Bharatiya Mazdoor Sangh

(E) Madras Labour Union

Choose the correct answer from the options given below :
(1) (E), (O (A), (B), (D)

(2 @A), (D), (©), (B), (E)

(3)  (A), (B), (C), (D), (E)

(4) (E), (D) (B), (C), (A)
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Question Number : 104 Question Id : 5330721854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 22 gfaHi o 129 9 T S FITFATIR SHard i
(A) T TE g9 Fiw

(B) T fead AvHd 28 A ad il

(C) 31a sfean o€ gfa+ &y

(D) WRETE Heigy HH

(E) W&M wre gfad

9= feu o faeredi § 9 WE W 1 =TI FIfAU
(1) (B, (©), (A), (B), (D)

(2) (A) (D), (©), (B), (E)

(3)  (A) (B), (O), (D), (E)

(4) (E), (D), (B). (C), (A)

Question Number : 105 Question Id : 5330721855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Garland, Jones, and Kolodny (1976) proposed five stages of group development. Which is the
correct sequence of these stages ?

(A) Intimacy

(B) Differentiation

(C) Separation

(D) Power and Control

(E) Preaffiliation

Choose the correct answer from the options given below :
1) (), (A, @), D) ©

@ (B, (D) (A), (B), (O

3) (), (B) (D), (A) (©

@ (E), (© (A) D) (B)

Question Number : 105 Question Id : 5330721855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TREIS, S0 IR HIEAT (1976) 7 9 foswm % 9" =2 o wEaifad foan €1 39 =0l &1 9&l 790

FNE?

(A)  HTCHIFAT

(B) fawuEterTm
(C) THFRT

(D) wfer 23R fsm
B) gA-HeE

99 fou 0 fasredi 9 WE W 959 T
(1) (E), (A), (B), (D), (C)
(2) (B), (D), (A), (B), (O)
(3) (), (B), (D). (A), (O
(4) (E), (O), (A), (D), (B)

Question Number : 106 Question Id : 5330721856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terminologies is connected with qualitative inquiry ?
(A) Phenomenology

(B) Range

(C) Interpretivism

(D) Hypothesis

(E) Ethnography

Choose the correct answer from the options given below :

(1) (A), (B), (O) only

(2) (B), (©), (D) only

(3) (D) (©) (A) only

(4) (A), (Q), (E) only

Question Number : 106 Question Id : 5330721856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa mitnfus seeree § ¥ S e S6u sie § HeEfed € 2
(A) TTEEEA fagm (FAHATETs)
(B) WUH (=)
(C) =aEmETE (3eufefasn)
(D) e (grEmafas)
(E) el 510l (3&IRITHT)
= feu T forredi H 9§ WE 3T A =TI HN
(1) = (A), (B), (O)

(2) %= (B), (O), (D)
(3) w@a (D), (O), (A)
4) == (A), (), (E)

Question Number : 107 Question Id : 5330721857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which companies qua]_ify for CSR under Compa_nies Act, 2013 ?
(A) Net worth of ¥ 500 crore or more

(B) Turnover of ¥ 1,000 crore or less

(C) Turnover of ¥ 1,000 crore or more

(D) Net profit of ¥ 5 crore or more

Choose the correct answer from the options given below :

(1) (&) (B), (C) only

(2) (B), (A), (D) only

G) (A (©), (D) only

@) (©. (D) (B) only

Question Number : 107 Question Id : 5330721857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S It e, e sfufram 2013 % stla e €2
(A) T 500 FUS H FA oI A1 3HY AT4F

(B) ¥ 1,000 IS I 2A TR A1 3HH FH

(C) % 1,000 I o = A 1 390G Aferm

(D) T5 HUS FH FaA 1Y A1 IqH Aferh

I feu v fawedl § 9 W& I 1 99 FIfSU

(1) == (A), (B), (C)

(2) e (B), (A), (D)
(3) @ (A), (), (D)
(4) F=d (C), (D), (B)

Question Number : 108 Question Id : 5330721858 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 64/102



8/23/24, 12:24 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Correct Marks : 2 Wrong Marks : 0
Which of the following are settlement houses in the United States ?
(A) Hull House
(B) Neighbourhood Guild
(C) College Settlement
(D) Houchen House
(E) Toynbee Hall
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) only
(2)  (A). (©), (D) and (E) only
(3) (A), (B) (D) and (E) only
(4)  (B), (C), (D) and (E) only

Question Number : 108 Question Id : 5330721858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffafaa § § %M & sifaem 76 smfe 7 fom © 2

(A) B ERE
(B) TaEE fiee
(C) whicTsl Heame
(D) @B BRE
(E) 2roe e

9= feu o famredi § 9 W 3T 1 =TI FIfSU
(1) = (A), (B), (C) ¥R (D)
(2) F=E (A), (O), (D) 3R (E)
(3) = (A), (B), (D) 3R (E)
(4) = (B), (O), (D) 3 (E)

Question Number : 109 Question Id : 5330721859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true of ‘structural change’ model of community work ?
(A) Transform existing conditions at the grass roots level.

(B) Adopt alternative political ideology.

(C) Develop the link between the micro and macro level social realities.
(D) Redistribution of power in a community between groups.

(E) Evaluate welfare program and services of the government.

Choose the correct answer from the options given below :

(1) (A), (B), (O) and (D) only

(2 (B), (©), (D) and (E) only

(3) (©), (D), (E) and (A) only

(4) (D), (B), (A) and (B) only
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Question Number : 109 Question Id : 5330721859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § =AW FoF SHeias & & GEAmE aiadd’ 7ed & a) H §e € ?
(A) A &R 9 gafod fafadi 1 s 9iafid &

(B) ieRfcdsh WSHITaeh fer=mema &l ST

(C) T&m 3R Ieq Wi arfawaed % =it Fer (fow) fasfag s

(D) GHEl & =9 g9e™ | vife 1 g

(E) HI&R & FAThR] Hasd SR Fasil &1 srhe e

9= feu o famredi § 9 W 3T 1 =TI FIfSU

(1) 9 (A), (B), (C) 3R (D)

(2) %= (B), (C), (D) ¥R (E)
(3) @ (Q), (D), (E) 3T (A)
(4) == (D), (E), (A) 3R (B)

Question Number : 110 Question Id : 5330721860 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are characteristics of victim blaming ?

(A) Downtrodden of society are responsible for their own distress

(B) Dominant groups are sympathetic to the downtrodden

(C) The negativity may become a self-fulfilling prophecy for the downtrodden

(D) The downtrodder internalize the blame attached to them

(E) Growth of industrialization and the development of protestant ethics contribute to the ethos.
Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) only

(2)  (A), (B), (D) and (E) only
(3) (A), (), (D) and (E) only
(4) (A), (B), (C) and (E) only

Question Number : 110 Question Id : 5330721860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa & | i = SR =i faman €2

(A) U % dfed o9 Fel F fog T fomier €

(B) W Gue sfed % ufa Gergyfasiiea &

(C) errererar af=i % fau @ # qof %2 arelt wa wfesrarit a9 g &
(D) sifer 3197 T1e ST Y <1 W STafie (ZereRs) W €

(B) sitefirerieo =i Hgfs uiew= =R I & fasm 3 dear § dner fom €
= feu U fomredi H 9§ W@ ST A =4I F

(1) 9 (A), (B), (C) 3R (D)

(2) ¥ (A), (B), (D) SR (E)

(3) %ae (A), (O), (D) 3R (E)

(4) e (A), (B), (C) ¥ (E)

Question Number : 111 Question Id : 5330721861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Psychodrama consists of :

(A) Professional actors to perform drama

(B) Role enactment of individuals in a group

(C) Individuals, if needed, represent persons in the real-life situation
(D) Individuals get an opportunity to externalize their hostilities and see thing more objectively
(E) Instrument of therapy for individual tensions and conflicts.
Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) only

(2) (A), (©), (D) and (E) only

(3) (A), (B), (D) and (E) only

(4) (B, (C), (D) and (E) only

Question Number : 111 Question Id : 5330721861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T T Wi €

(A) 2 1 GEfd o foQ U9Ee SAf9ear &t SAeEegerd

(B) U wE H eAfeRrl T ifeh e (T g

(C) =fg Yavas B @1 Afa Siad &t anadfas feafa o foel o safgadl & 7= & el (Rosie)
FE

(D) oAl o 1o TRt o1 T ©9 37 1 STaEL e B SR 3 <Hisi 3 sAferes segfTe ol 9 S
(B) =AfFaTa are 3R gl o fore I0ieR & U |eE % 9 H w e

= feu U fomredi H @ WE I A =4I F

(1) e (A), (B), (C) R (D)

(2) e (A), (©), (D) 3R (E)
(3) A4 (4), (B), (D) ¥R (E)
(4) 5 (B), (O), (D) 3 (E)

Question Number : 112 Question Id : 5330721862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the process of development, the change agent performs the following specific roles in order to
mobilize the community.

(A) A catalyst

(B) A process helper

(C) A resource linker

(D) A political opportunist

(E) A conflict manager

Choose the correct answer from the options given below :
(1) (A), (B), (O) and (D) only

(@ (A), (B), (O) and (E) only

(3) (B), (O, (D) and (E) only

(4) (A), (O, (D) and (E) only

Question Number : 112 Question Id : 5330721862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o =t gfsra H T 9ftads G & Uhed 3 & g e 9 § fafore st =
feaTe &ar 21
(A) Tk IEH

(B) U Withal Werdsh

(C) TF GHMA IS

(D) U TSI SEHTare]

(E) U g= auF

= feu T foskedi § 9 Wel W FH T4 HIC ;
(1) e (A), (B), (O) ¥R (D)

(2) &= (A), (B), (C) 3R ()

(3) = (B), (O), (D) ¥R (E)

(4) %= (A), (), (D) ¥R (E)

)
)

Question Number : 113 Question Id : 5330721863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

People’s participation in development programmes or projects can be understood as given below :
(A) Participation in decision making

(B) Participation in implementation

(C) Participation in monitoring and evaluation

(D) Participation in sharing the benefits of development

(E) Participation in recruitment of the staff of the implementing agency
Choose the correct answer from the options given below :

(1) (B), (O, (D) and (E) only

() (A), (B), (C) and (D) only

(3) (A), (B) (D) and (E) only

(4) (A), (O, (D) and () only

Question Number : 113 Question Id : 5330721863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Aferrii 1 farre FRiwT a e H afaenf @ f | e s s
(A) T9ofg e # gfasf

(B) @] LA H IR

(C) ergatero iR geama ¥ gfasfrar

(D) fomrra % endi =it federd # wfqurfian
(E) ohTE-=9A TSH! & L% ol 9ot | ufasfra
= feu U fapedi § 9 Wal W FH T4 HIAC ;
(1) =9 (B), (C), (D) ¥R (E)

(2) = (A), (B), (C) 3 (D)

(3) = (A), (B), (D) 3R (E)

(4) e (A), (O), (D) ¥R (B)

Question Number : 114 Question Id : 5330721864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cultural competence is important for working effectively with clients from diverse cultural
background. What are the important characteristics of cultural competence ?
(A) Familiarity with the cultural norms and values of a specific group.

(B) An understanding of the uniqueness of one’s own cultural beliefs

(C) Openness to other customs and rituals

(D) Willingness to learn about other customs

(E) Considering one’s culture as superior from others.

Choose the correct answer from the options given below :

(1) (A), (B), (O) and (D) only

(2 (A), (B), () and (E) only

(3) (), (O, (D) and (E) only

(4) (A), (B), (D) and (E) only

Question Number : 114 Question Id : 5330721864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tieapfas wema fafay aikfos Ty % TRl & W9 Fd F * fore qeeyul 81 TicslaEw Qe &
Heequl fergraamd & o € ?

(A) fafere g 3 fremi (Fied) &Ik 9ol 9 ufifem g
(B) Tl T #i WiTkfas Iensl % IS F O B
(C) == ffa-farEi sik s & dfd g

(D) == dfa-farsi & s’ § Jias it aotd

(E) &4 =i HEHld %I gHU § Sgad A/

= feu U fosedi H ¥ We IW A 99 R

(1) 9 (A), (B), (C) TR (D)

(2) = (A), (B), (O) 3R (E)

(3) = (B), (O), (D) ¥R (E)

(4) e (A), (B), (D) #iR (E)

)
)

Question Number : 115 Question Id : 5330721865 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the statements are true of Sociometry ?

(A) A method for depicting and measuring interpersonal attraction in groups.

(B) By this method, attraction and repulsion of members of a group can be represented by
sociograms.

(C) Role enactment of individuals in a group are done.

(D) Concepts of leadership and isolation can be investigated by this method.

(E) The method is eminently an interdisciplinary investigation of group relations.
Choose the correct answer from the options given below :

(1) (A), (B), (O) and (D) only

(@) (A), (©), (D) and (E) only

(3) (A), (B), (D) and (E) only

(4) (), (O, (D) and (E) only

Question Number : 115 Question Id : 5330721865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafes § ¥ %M | wum gueimfa (SRR F 9] § 98 € 2

(A) THE H AR dafad ARy 1 oo SR w@9q & fafy

(B) 39 faft ¥ gwre-swerE! g1 TRt T9E F 9eel & ARy iR erelT 1 wfafafue foman s e
S

(C) = ¥ safwal 1 yfires &1 sifufraea feean wan &

(D) =9 fafy ¥ g #1 s@YRY i STema 1 Sirg Fi S G ©

®) I fafy oye-ded = s w9 A U siw-faugs & €

Fr= feu mu foasredi § | W& I F T2 FGC

(1) 9 (A), (B), () ¥R (D)

(2) F=E (A), (), (D) 3R (E)

(3) A (A), (B), (D) 3R (E)

(4) == (B), (O), (D) ¥R (E)

)
)

Question Number : 116 Question Id : 5330721866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As spelled out in the NASW Code of Ethics, the mission of social work is rooted in :
(A) Service

(B) Social Justice

(C) Inequity

(D) Integrity

(E) Competence

Choose the correct answer from the options given below :
(1) (A), (B), (O) and (D) only

() (B, (C), (D) and () only

(3)  (A). (B), (D) and (E) only

(4)  (A), (B), (O) and (E) only

Question Number : 116 Question Id : 5330721866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S fo Aifa wfea F v wm ey, Fe H e 1 € e FE 6 os fe o fafed €2
(A) e

(B) HMHISTR =T
(C) ZFEHMEdl

(D) 3HFERI

(E) H&Hdl

T fou o fagedi § 9 W& W F =TI FIG
(1) = (A), (B), (C) R (D)

(2) %= (B), (C), (D) ¥R (E)
(3) = (A), (B), (D) 3R (E)
(4) 9 (A), (B), (O) iR (E)

Question Number : 117 Question Id : 5330721867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct :
(A) Sum of the deviations from mean is zero.

(B) Sum of squares of deviations from mean is minimum.

(C) Sum of deviations from median, ignoring signs, is minimum.
(D)  Sum of squares of deviations from mode is minimum.
Choose the correct answer from the options given below :

(1) (A), (B), (C) only

2 (B), (©), (D) only

(3)  (©). (D) (A) only

4) (A), (B), (D) only

Question Number : 117 Question Id : 5330721867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafas § | 9 9 %9 el € ?

(A) TAE faaeri i am g ®

(B) A | fameri % ol (FeEEd) 1 A0 A ©

(C) Tl ol SUeT FT g Afeaeh ¥ fo=emi o1 am =aw ®
(D) wgeis | fa=ei @& & @l 4 Ay §

= feu o faded § F W@ W FH =TI FIGC

(1) = (A), (B), (O)

(2) = (B), (C), (D)

(3) e (C), (D), (A)

(4) &= (A), (B), (D)

)
)

Question Number : 118 Question Id : 5330721868 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which of the following are components of community work ?
(A) The target population

(B) Individual and group goals

(C) Groups within the community

(D) Significant individuals

(E) Agency

Choose the correct answer from the options given below :
(1) (A), (B), (O) and (D) only

(@) (A), (O), (D) and (E) only

(3)  (A). (B), (D) and (E) only

(4)  (A), (B), (O) and (E) only

Question Number : 118 Question Id : 5330721868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafes § 9 F@ § Aefas F8 F 92F €2
(A) e SHEE

(B) AfFaTE X WY & @A

(C) WHEA & iR T

(D) WYl =t

(B) USiEl (srfet)

= fau Mo fasedi # 9 W& IW A T wfAC
(1) = (A), (B), (C) ¥R (D)

(2) FFd (A), (C), (D) ¥R (E)
(3) =e (A), (B), (D) 3R (E)
4) FEA (A), (B), (C) ¥R (E)

Question Number : 119 Question Id : 5330721869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An Ecosystem approach to social work encompasses :

(A) Multiple and complex transactions between persons within their family
(B) People’s coping with changing environments

(C) Change in the people’s capacities to deal with their surroundings
(D) Participation of clients without the involvement of family

(E) The needs, problems and strengths of individuals and their families
Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) only

(2)  (A) (©), (D) and (E) only

(3) (A), (B), (C) and (E) only

(4) (A), (B), (D) and (E) only

Question Number : 119 Question Id : 5330721869 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

T % 9R H wR-gone surm § afmfad €

(A) =fe wd 39 9fErl & o9 98 T Afea Hegaer

(B) TNl gHI SIEEH STEY 1 WIHAT AT

(C) =199 A9 % 9Rery % f9ed & faw & i amaed § 9ied
(D) @l g IRER =i wiwferd feru fom arfier

(E) Afgaal TR 37 URani i Savashand, Taem 3K vt
9= feu o famredi § 9 W 3T 1 =TI FIfSU

(1) = (A), (B), (C) 3R (D)

(2) e (A), (Q), (D) &R (E)

(3) = (A), (B), (C) ¥R (E)

(4) A (A), (B), (D) 3R (E)

Question Number : 120 Question Id : 5330721870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following functions are performed by CSR committee as mentioned in Companies
Act, 2013 ?

(A) Formulate and recommend the CSR policy to the Board.

(B) Conduct evaluation and impact assessment of CSR project.

(C) Recommend the amount of expenditure to be incurred on CSR activities.

(D) Monitor the CSR policy of the company from time to time.

(E) Formulate and recommend to the Board an action plan in pursuance of its CSR policy.
Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) only

@ (B), (), (D), (E) only

(3) (A), (O (D), (E) only

(4) (A), (B), (D), (E) only

Question Number : 120 Question Id : 5330721870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7 # ¥ % 9 FE (CSR) H.08.31X. |iufd gr so stfufem 2013 % 7ea ford 5 €2
(A) (CSR) HI.UH.3R, ifd a1 G &1 1 A9 Al

(B) (CSR) H1.UH.3AR. IATSHI & YHTE 1 Ak o Hediehd hl

(C) (CSR) H1.UH. 3R, Tfafaferdi W @ 1 S+ aTelt ThH i ST LA

(D) |HI-HHY T FY H (CSR) H.UH.2TR. A o1 STTeror e

(E) (CSR) Hi.ug.3. Hifd ol @F] F o foiu 1@ gre a9 3R &€ &l 995 e
= feu U fomredi H ¥ W@ ST A =TI FIY

() =@ (), (B), (O), (D)

(2) ¥=@ (8), (), (D), (B)

(3) = (A), (O), (D), (E)

(4) e (A), (B), (D), (E)

Question Number : 121 Question Id : 5330721871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The following are four public relations (PR) models given by Gruning and Hunt in 1984 :
(A) Two-way symmetrical model

(B) Public information model

(C) Press agentry model

(D)  One-way non-symmetrical model

(E) Two-way asymmetrical model

Choose the correct answer from the options given below :

(1) (B), (D), (A) and (E) only

(2)  (A), (E), (B) and (C) only

(3) (D), (A), (B) and (C) only

#)  (E), (A), (©) and (D) only

Question Number : 121 Question Id : 5330721871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1984 W g7 3R &= g0 feu U 91 SHE9E WiSEH (PR) WEd ¢
(A) Tg-feeia wafidta diea

(B) WrESIah FoA1 Aigd

(C) U9-Tsi=d Hied

(D) uH-fouia i wafdta wiea

(B) fo-feeim smfnfaa Aea

9 fou 7o foskredi 9 W& I A =TI FI6C
(1) 9 (B), (D), (A) 3R (E)

(2) = (A), (E), (B) R (C)

(3) %[ (D), (A), (B) 3R (C)

(4) e (E), (A), (O) ¥R (D)

Question Number : 122 Question Id : 5330721872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are salient features of Juvenile Justice Act, 2000 ?
(A) Defined children as below 18 years of age.

(B) Separated children into two categories-children in need of care and protection and, children
in conflict with law.

(C) The children in need of care and protection were to be sent directly to observation homes.
(D) The children in conflict with law were to be kept in juvenile homes.

(E) Rehabilitation and social integration of a child.

Choose the correct answer from the options given below :

(1) (A), (B), (©), (E) only

2 (B), (O, (D) only

(3) (A), (B), (E) only

#) (©), (D) (E) only

Question Number : 122 Question Id : 5330721872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fepeir = srfufm, 2000 F fF=fafeas & 9 =@ g fagmand €2

(A) 18 99 | Y g A =i & 9 H vfaiya foman man ©

(B) =i i &1 AHI-SWIWIE WS HYEI T STEvHEd aTel = iR fafy % forg g A diaw =i |
EECRCRIRE I

(C) TEYH TS HL&W 1 SAEYTHdl dre] T ol HE FIG0 TE ( SAesav erg) H & s =nfen

(D) fafu % favs g5 # dfaa s=i 1 fFR 78 § @ s =nfee

(E) o= o1 YAETEH iR reifetes e

= feu U fomredi H @ WE& I A =4I FIW

(1) =@ (A), (B), (O), (B)

(2) e (B), (C), (D)

(3) =E (A), (B), (E)

(4) F=4 (O), (D). (B)

)
)

Question Number : 123 Question Id : 5330721873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the enactment of following legislation in chronologies order :
(A) Juvenile Justice (Care and Protection of Children) Act

(B) Immoral Traffic Prevention Act

(C) Probation of Offenders Act

(D) Narcotics Drugs and Psychotropic Substance Act

(E) Prisons Act

Choose the correct answer from the options given below :

(1) (A), (B), (©), (D), (E)

(2 (), (©) (D), (B), (A)

(3) (B), (D), (E), (A), (O)

(4) (A), (E), (B), (D), (C)

Question Number : 123 Question Id : 5330721873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freferfiaa fasmi =1 ] 8 % FTeRRaTEr Sareerd Fifsm ;
(A) ToR¥iR = (SRl 1 SEE SR Hem) sftufaag

(B) Ffaer =R (femon) sifufr=m

(C) =7 afteien sifufam

(D) &9k Siufy SR T:wvTet qerd srffram

(E) R sAfufaam

= feu U fomredi H 9§ W@ ST A =TI FY

(1) (A), (B), (©), (D), (E)

(2) (B), (O (D), (B), (A)
(@) (B), (D), (E), (A), (O)
(4) (A) (E), (B), (D), (Q)

Question Number : 124 Question Id : 5330721874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/are not included in the fifteen points of rural reconstruction program
initiated by Rabindranath Tagore ?

(A) To create unity and fraternity among the various communities and address the harmful

social ills
(B) To restrain people from consuming alcohol and drugs
(C) To promote information technology and digital infrastructure
(D) To form cooperative grain stores in order to cope with famine
(E) To cultivate fraternal feelings and sense of unity among each and every village and district
Choose the correct answer from the options given below :
(1) (A), (B), () only
@ (B) (O only
(3) (C) only
(4) (D), (B) only

Question Number : 124 Question Id : 5330721874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl SR gRT R fohw e amdor geTeror % 15 fageit o frefates § 9 @0 9 fog afmfos 7= € 2
(A) fafiu= gyerEi § v st = enfad s ot efTerne amfes sEedl W eH S
(B) TNl 1 Uewhed SR A Ygief % 3UAM | Tl
(C) = drenfirerT =i fefSes sradvamn &1 dreme o
(D) kT 1 WA T o ToIU Feshil ST R 1 7T T
(B) Wedsh el of el H =R oiR wahdl i e Se0= e
= feu U fomredi H ¥ W@ ST A =TI FIY
(1) = (A), (B), (O)

(2) = (B), (O)
(3) = ()
(4) e (D), (E)

Question Number : 125 Question Id : 5330721875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The salient features of Dissociate disorder are :
(A) Dissociative amnesia

(B) Depersonalisation/Derealisation disorder
(C) Illness anxiety disorder

(D) Dissociative identity (multiple personality)
(E) Paralysis, blindness

Choose the correct answer from the options given below :
(1) (A), (B), (D) only

(2)  (A) (B), (C) only

3)  (©). (D), (E) only

#4) (B, (©), (D) only

Question Number : 125 Question Id : 5330721875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faere faepr (feuifaue femeitdy) # & fadmand € -

(A)  ToeTeie wfa-om (femfaufes wafemm)

(B) =Afdae am/fafas fawr (Teuui-amrsH/ fefuassym feasAter)
(C) ®rar Haft gfeaar faeR (semT T=emeet femsitet)

(D) fasreTeier (fedifaufes) de=m (sgfay safFe)

(E) ©TFdl, HHTTH

= feu U fomredi H ¥ W@ ST A =TI FIY

(1) e (A), (B), (D)

(2) Fad (A), (B), (O)
(3) @ (C), (D), (E)
(4) *=E (B), (), (D)

Question Number : 126 Question Id : 5330721876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Programmes/ Institutions/Reports) (Year)
(A) Toynbee Hall (Iy 1942
(B) Beveridge Report (I) 1869
(€) Charity Organization Society (II) 1884
(D) Elizabethan Poor Law (IV) 1601

Choose the correct answer from the options given below :
(1) (A)-(1D), (B)-(I1L), (C)-(I), (D)-(IV)
(2)  (A)IV), (B)-(IT), (C)-(I), (D)-(I)
(3)  (A)-(), (B)-(L), (C)-(L), (D)-(IV)
(4)  (A)-(Il), (B)-(ID), (C)-(I), (D)-(IV)

Question Number : 126 Question Id : 5330721876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
-1 -1
THTHHH /AT EL|
(A) g BTe () 1942
(B) wafts fdre (I) 1869
(C) =R eifesiom draredt (D) 1884
(D) Ufersay 93 @ (IV) 1601

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-(ID, (B)-(I1D), (©)-(), (D)-(IV)
(2)  (A)-(IV), (B)~(ID), (O)-(IL), (D)-(I)
(3) (A, (B)-(I), (OR(IL), (D)-(IV)
(4) (A1), (B)-(1D, (©)-(1), (D)-(IV)

Question Number : 127 Question Id : 5330721877 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the Trade Unions with corresponding year of formation.

List - 1
(Trade Union)
(A) All India Trade Union Congress
(B) The Red Trade Union Congress
(€) Indian National Trade Union Congress
(D) Bharatiya Mazdoor Sangh

List - II

(Year of Formation)

(0
(11)
(111
(IV)

1947
1955
1931
1920

Choose the correct answer from the options given below :

(1) (A, (B)-(11), (O)-(I), (D)-(LV)

(2 (AHIV), (B)-(I0), (O)-(1), (D)-(1IN)
() (A)-(D), (B)-(I1D), (©)-1V), (D)-(1)
(@) (AHIV), (B)-(1D), (O)-(LD), (D)-I)

Question Number : 127 Question Id : 5330721877 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tet-11
e gfraa TS T T
(A) e sfean o€ gfa &g (I) 1947
(B) T g gE gfHH HiE (I) 1955
(C) cfedd JvFa 28 gfHam &g (1) 1931
(D) YA HSgL §H (IV) 1920

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-(D), (B)-(11), (O)-(11L), (D)-(1V)
(2)  (A)HIV), (B)~(IID), (O)~(I), (D)-(IT)
(3) (A1, (B)-(1D), (O)-(1V), (D)-(I)
(4)  (A)-(V), (B)-(11), (O)-(111), (D)-(1)

Question Number : 128 Question Id : 5330721878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the merits of Arithmetic Mean ?

(A) Itis simple to understand and easy to compute.

(B) Itisa calculated value, and not based on position in the series.
(C) It is not affected by the value of every item in the series.
(D) It is the centre of gravity.

(E) It is defined by a rigid mathematical formula.

Choose the correct answer from the options given below :

(1) (A), (B), (D), (E) only

(2)  (A). (B), (C), (E) only

3)  (B), (©), (D), (E) only

@) (&) () (D), (E) only

Question Number : 128 Question Id : 5330721878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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iR Mg o 7 H 9 /- YO ?
(A) I% ar H Wa iR ufehed § g ©
(B) I8 U Ufiehferd Hed € i sjwen # et sraftd w smenfia 76 &
(C) =% J&er H Yo Tig % Yod § guifad =2 o §
(D) &% & I H= T
(E) e U a1 Tifordta g3 | uftenfoa 2w e
= feu U fomredi H ¥ W@ ST A =TI FIY
(1) =@ (A), (B), (D), (E)
(2) = (A), (B), (C), (B)
(3) = (B), (C), (D), (B)
(4) F99 (4), (O, (D), B)

Question Number : 129 Question Id : 5330721879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the organizations with the founders.

List - 1 List - II
(Organization) (Founder)
(A) Satyashodhak Samaj (I) Swami Dayanand Saraswati
(B) Arya Samaj (II)  Pandita Ramabai
(C) Brahmo Samaj (II)  Jyotiba Phule
(D) Arya Mahila Samaj (IV) Raja Ram Mohan Roy

Choose the correct answer from the options given below :
(1) (A)-(I), (B)~(L), (C)-(IV), (D)-(LI)

2 (A)-(), (B)-(IIT), (O(IV), (D)-(1T)
(3)  (A)(I), (B)-(IV), (O)-(11), (D)-{1)
(4)  (A)-(ID), (B)-(D), (O~IV), (D)-(1M)

Question Number : 129 Question Id : 5330721879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 84/102



8/23/24, 12:24 AM

Al w1 3k HEATYH oF |1 e wife
5 Tei-11
HSA HIATTHR
(A) TESIHE THS () T&THl g TTEeR|
(B) a4 wHT (1) dfed wEE
(C) o 9o (111 s=faan s
(D) 3 Hfgem FuTs (IV) T=T T Hied T

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-(), (B)-(I), (O-(1V), (D)-(11)
(2)  (A)D), (B)-(ILL), (O)(IV), (D)-(IT)
(3) (A, (B)-(IV), (O(11), (D)-(I)
(4) (A, (B)-(D), (O-(1V), (D)-(111)

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 130 Question Id : 5330721880 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the professional associations/bodies with its founding year.

List - 1

(Associations/Bodies)
(A) Council of Social Work Education (CSWE)
(B) International Federation of Social Workers (IFSW)
(C) National Association of Social Workers (NASW)
(D) International Council on Social Welfare (ICSW)

Choose the correct answer from the options given below :

(1) (A1), (B)-(II), (O-(IV), (D)-(L)

(2)  (A)HIm), (B)1V), (O)-(), (D)-(1)
(3)  (A)-(I), (B)-(D), (CF(IV), (D)-(I)
4) (A1), (B)-(IV), (O)-(I), (D)-(I1)

List - II
(Founding Year)
() 1955
(Ify 1928
(IIy 1952
(IV) 1956

Question Number : 130 Question Id : 5330721880 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Teit-11
TEifauye / e TRITOAT
(A) TFISFAE A% WY 9ok TSRy (CSWE) () 1955
(B) FTIUMA WEWM SF WA oy ([FSW) (I) 1928
(C) #9He UHIfIUSF 1% 9T d6d (NASW) (I 1952
(D) FEAYASA FIEHA A Heel aeHa (ICSW) (IV) 1956

= fou e fasredi O 9 WE W 95949 AT
(1) (A)-(1), (B)-(LI), (C)-(IV), (D)~(IL)
(2) (A, (B)~(IV), (C)~(D), (D)-(IT)
(3)  (A)-(I), (B)-(I), (O-(1V), (D)-(IL)
4) (A1), (B)-(1V), (O)-(1), (D)-(I1L)

Question Number : 131 Question Id : 5330721881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the committee relaﬁng to health services with currespnnding years.

List - 1 List - II
(Committee relating to health services) (Year)
(A) The Bhore Committee () 1967
(B) The Chaddha Committee (I 1973
(€) Jungal Walla Committee (1) 1943
(D) Kartar Singh Committee (IV) 1963

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(ILL), (C)~(1I), (D)-(I)
(2) (A, (B)-(IV), (O)-(I), (D)-(IT)
(3)  (A)-(I), (B)-(ILL), (C)-(I), (D)-(IV)
(4)  (A)(1D), (B)-(T), (O)-(I), (D)-(IV)

Question Number : 131 Question Id : 5330721881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e Hanell ¥ giafadl &1 gafea o o @y foeam Fife

Teil-1 Teit-11

(TaTEer Haret | wardd wfufd ) o
(A) s =fufa () 1967
(B) ==l "iHfd (I) 1973
(C) ST e gfafd (IIT) 1943
(D) =aR fae wfEfd (IV) 1963

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-IV), (B)-(IID), (O)~(11), (D)-(T)
(2)  (A)-(II), (B)IV), (C)HT), (D)-(IT)
(3) (A, (B)R(II), (O(IL), (D)-(IV)
(4)  (A)-(ID, (B)-(1), (O)-(111), (D)-(1V)

Question Number : 132 Question Id : 5330721882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the year of enactment with the corresponding legislal'ion.

List - 1 List - II
(Year) (Legislation)
(A) 1833 (I) Hindu Widow Remarriage Act
(B) 1986 (II)  Abolition of Slavery
(€C) 1948 (III) Factories Act
(D) 1856 (IV) Child Labour (Prohibition and Regulation) Act

Choose the correct answer from the options given below :

1) (A, (B)-(1D), (O)-(IM), (D)-(LV)

(2)  (A)Im), (B0, (O-(IV), (D)-(1I)
(3)  (A)-(IV), (B)(1I), (C)-(11), (D)-(I)
4) (A1), (B)-(IV), (O)~(ILD), (D)-(1)

Question Number : 132 Question Id : 5330721882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 87/102



8/23/24, 12:24 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
ST o 99 § garud faum & @ faems e
Teil-1 TEA-11

L] faem
(A) 1833 () Te=g faven qafdamr sifufran
(B) 1986 (I) S 1 e
(C) 1948 (111 TreRdt srfufam
(D) 1856 (Iv) = g9 (Fy &R fafrae) sifufem

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-(D), (B)-(ID), (O)-(II), (D)-(IV)
(2)  (A)-(II), (B)-I), (C(IV), (D)-(IT)
(3)  (AHIV), (B)-(I), (O)~(11), (D)~(I)
4) (A1, (B)-(1V), (O)-(111), (D)-(1)

Question Number : 133 Question Id : 5330721883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the Theories of persnna]ity with cm‘respondjng proponent.

List - 1 List - I
(Theories of Personality) (Name of the Proponents)
(A) Psychoanalytic theory (I)  Albert Bandura
(B) Behavioural theory (II) Carl Rogers
(C) Humanistic theory (IIT) Sigmund Freud
(D) Cognitive theory (IV) John, B. Watson

Choose the correct answer from the options given below :

1) (A, (B)-(1D), (O)-(M), (D)-(LV)

(2)  (A)Im), (B)-1D), (O-(I), (D)-(1V)
() (A)-(IV), (B)(I1I), (C)-(1), (D)-(I)
(4)  (A)I), (B)-(1V), (O)-(1D), (D)-()

Question Number : 133 Question Id : 5330721883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AferTea F fagia vd 39 yfaares =1 foem Fifaw .

i1 -1

=fea & fagia YIATES T ATH
(A) Wfaveo fagra () Teae arga
(B) =N fHgid (II) =Tl UsTd
(C) WAHadmEE fagid ) fome wee
(D) A fEgid (IV) <, ot aresd

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A1), (B)-(II), (C)-(111), (D)-(IV)
(2) (A, (B)~(I), (C)-(1D), (D)-(IV)
(3)  (A)-(IV), (B)~(ILI), (O)(L), (D)-(IL)
(4)  (A)-(II), (B)-(IV), (O)(11), (D)-(I)

Question Number : 134 Question Id : 5330721884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the day with dates.

List - 1 List - II
(A) World Environment Day () 14t April
(B) International Human Rights Day (I) 5% June
(C) World Social Justice Day (II1) 10 December
(D) World Knowledge Day (IV) 20th February

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(11), (©)-(), (D)-(IV)

(2 (A1), (B)-(I1D), (©)-(IV), (D)-(I)
(3)  (A)HIm), (B)1V), (O)-(1), (D)-(1)
4)  (A)-(IV), (B)-(1), (C)-(I), (D)-(I1)
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Question Number : 134 Question Id : 5330721884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feorg v fafemi o e fvem e
Teil-1 TEft-11
(A) Torva waier feem () 14 =4

(B) AU HIHE SfHHR () 53
(C) Torva wmifsier = feag (1) 10 feds
(D) fava M feag (IV) 20 wead
e feu o faredi § 9 W W 1 =TI FIfSU

(1) (A, (B)I), (C)-@), (D)-(IV)
(2) (A0, (B)-(LD), (©)-(V), (D)-(I)
() (A, (B)-(1V), (O)-(1), (D)-(I)
(4)  (AHIV), (B)-(D), (C)-(ID), (D)-(IM)

Question Number : 135 Question Id : 5330721885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the book with their author.

List - 1 List - II

(Books) (Author)
(A) Theory Building in Social Work () Gisela Konopka
(B) Social Group work Practice (II) Harleigh Trecker

(€) Social Group Work Principles and Practice  (IIl) Wilson and Ryland
(D) Therapeutic Group Work with Children (IV) Gordon Hearn

Choose the correct answer from the options given below :

(1) (AHIV), (B)-(1D), (O)-(ILD), (D)-(I)

() (AHIV), (B)-(I0), (O)-(11), (D)-(I)
(3)  (A)-(IV), (B)(ID), (C)-(T), (D)-(IMI)
() (AHIV), (B)-(D), (C)-(ILI), (D)-(II)

Question Number : 135 Question Id : 5330721885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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JEae o1 3 i@ & |1 i e
Teil-1 -1
q&Teh [GEeEa

(A) e fafes 9 99 =k () o s
(B) HIvI& Y9 ak Ul (I gfet=r gt
(C) e 74 9% : fifauey de iy (1) faeg 3iv @we
(D) Teiregfes v =% fag faegd (IV) A &

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-IV), (B)-(11), (C)-I11), (D)-(T)
(2)  (A)HIV), (B)~(IID), (O)~(11), (D)-(T)
(3)  (A)HIV), (B)-(11), (O)-1), (D)-(11)
4)  (A)-1V), (B)-(D), (C)-(11L), (D)-(11)

Question Number : 136 Question Id : 5330721886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the area of work with the name.

List - 1 List - II
(Area) (Person)
(A) Satipratha (I) Sarojini Naidu
(B) Leprosy (II) Dayanand Saraswati
(C) Status of women (III) Baba Amte
(D) Idol worship (IV) Raja Ram Mohan Roy

Choose the correct answer from the options given below :
(L (A1), (B-(IV), (C)-I0), (D)-(II)
(2 (A)-IV), (B)-(IL), (C)-(I), (D)-(1T)
(3)  (A)-(I), (B)-(ID), (CO)-(V), (D)-(I)
(4)  (A)-(1D), (B)-(IID), (C)-AV), (D)-(I)

Question Number : 136 Question Id : 5330721886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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F14 &3 Ud SAfad F 99 F WY e Fife
Teft-1 Tt-11

as afer
(A) HeTen () HUfsH =g
(B) F= (I) <aHe HEE
(C) wfecnat =1 feafa (III) =& 277
(D) Hfd gam (IV) /=1 T Hied T

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A, (B)-(IV), (C)-(II), (D)-(1I)
(2)  (A)HIV), (B)~(IID), (O)~(I), (D)-(IT)
(3) (A, (B)-(1D), (O)-(1V), (D)-(1)
(4)  (A)-(ID, (B)-(11D, (©)-(1V), (D)-(1)

Question Number : 137 Question Id : 5330721887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the approaches of social work with their proponents.
List - I List - II
(Social Work Approach) (Proponent)

(A) Anti-oppressive Social Work (I) Jan Fook
Theory and Practice

(B) Radical Social Work (II) Dennis Saleebey
(C) Critical Social Work (I) Lena Dominelli
(D) Strength Based Social Work (IV) Bailey and Brake

Choose the correct answer from the options given below :

(L) (A1), (B)-(1D), (O-{), (D)-(I1)

(2) (A, (B)-(IV), (O(D), (D)-(ID)
(3) (A1, (B)-(ILD), (C)-(IV), (D)-(0)
4)  (AHD), (BRI, (O)-(), (D)-(IV)

Question Number : 137 Question Id : 5330721887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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quTel w1 F UM 1 36 Ffadgs! & 91 e wife

TeR-1 He-11

( |HTH HTH IURTH ) ( wfaarees )
(A) TAF-Teoriedt worst wrE fagia o =7eEn () 9 &
(B) e guTst FHE (I =f= arfersi
(C) GHTeAr=h HHTS A (1) fen et
(D) oife-snenfa gurs FwE (IV) ol 3R 3

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-1IV), (B)-(11), (C)-(1), (D)-(1I)
(2)  (A)-(II), (B)IV), (C)A), (D)-(IT)
(3) (A1, (B)-(1D), (©O)-(1V), (D)-(1)
(4) (A1), (B)-(ID), (O)-(111), (D)-(1V)

Question Number : 138 Question Id : 5330721888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the schemes/ programmes with their year of implementation :

List - 1 List - II
(Schemes/Programmes) (Year)
(A) Beti Bachao Beti Padhao (y 2013
(B) Integrated Child Development Services (I) 1975
(C) Deen Dayal Antyodaya Yojana (I 2014
(D) Swachh Bharat Mission-Gramin (Iv) 2015

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IL), (C)y-(M), (D)-(IV)
(2) (A, (B)-(IV), (O)-(I), (D)-(1T)
(3)  (A)-(II), (B)-(1D), (C)-(I), (D)-(IV)
(4)  (A)(IV), (B)-(1I), (O)-(I), (D)-(IM)

Question Number : 138 Question Id : 5330721888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ATt/ FTEEal 1 36 Fard 99 % 9y foem #ife

Teil-1

(T /TR )
(A) 2 F=ns, S gl
(B) THfEa =ret fasry dand
(C) TH T SA=ARd FrsH
(D) =3 ¥ fayA-Tmio

(0
(D)
(1)
(Iv)

THt-11
(=)
2013
1975
2014
2015

= feu U fashed § 9 Wal 3 FH T4 HIAC ;

(M (AL, (By-(LI), (O)-(I), (D)-(IV)
) (A, (B)-(1V), (O)-(I), (D)-(I)
(3)  (A)-(ID, B)-11), ©)-O), (D)-IV)
) (A)HIV), (B)-(1T), (O)-(1), (D)-(1I)

(2

(4

Question Number : 139 Question Id : 5330721889 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the National Policy with its corresponding year.
List - II
(Year)

List - 1
(National Policy)
(A) National Policy on Health
(B) National Policy on Youth

(D)
iy

(€) National Policy on Voluntary Organization (III)

(D) National Education Policy

(IV)

2023
2007
2020
2017

Choose the correct answer from the options given below :

(1) (A)m), (B)-(D), (O)-I), (D)-(IV
@ (A1), (B)-{0), (O~m), (D)-IV
() (A)-(), (B)-(IV), (C)-(LI), (D)-(I
4)  (A)-(IV), (B)(D), (O)-(II), (D)-(III

Question Number : 139 Question Id : 5330721889 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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TG Hifd 1 399 Farua 99 & Y fH7em Fife
TeEit-1 -1

(Tt =it ) (=)
(A) TR % R H UL A () 2023
(B) Falk @i # UL Hifa (I 2007
(C) T=agen dadi & a1 § U ifd (1) 2020
(D) T T ifa (IV) 2017

= feu U fashed § 9 Wal 3 FH T4 HIAC ;
(1) (A)-(), (B)-(D), (O)-(I1), (D)-(IV)
(2)  (A)-(D, (B)-(1), (C)-(ILI), (D)~(IV)
(3)  (A)-(1), (B)-(IV), (C)-(ILL), (D)-(IL)
4)  (A)-IV), (B)-(1), (C)-(1m), (D)-(111)

Question Number : 140 Question Id : 5330721890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Theories/Approaches/Models) (Person Associated)
(A) Functional social case work approach (I) Albert Bandura
(B) Problem solving model (II) Germain and Hartman
(€) Social Learning theory (ITII) Helen Harris Perlman
(D) Ecological systems theory (IV) Jessie Taft and Virginia Robinson

Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-(ID), (CO)-(1), (D)-(1V)
(2) (A, (B)-(L), (C-(IV), (D)-(IT)
(3)  (A)(IV), (B)-(I), (C)-(IT), (D)~{IM)
(4)  (A)(IV), (B)-(IIL), (C)-(I), (D)-(II)

Question Number : 140 Question Id : 5330721890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
TEit-1 Te-1I

fagia /surm /areed Hag SAfeaal & |
(A) WeRTAICHeR TSI Foh01 3AFTH (1)  3Tcae agq
(B) THE THIMM Higw (I) STH 3T eehA
(C) armfere sifermy fagra (1) &&r &8 efi

(D) wftferfaenta gonferdl @ fagia (IV) STt 2w 3R apsifran dfeaa
= feu U fashed § 9 Wal 3 FH T4 HIAC ;

(1) (AAID, (B)-(D), (C)-1), (D)-(IV)

(2) (A, (B)<(D), (C-(IV), (D)-(I)

(3)  (A)-(IV), (B)(D), (C)-(II), (D)~(I0)

(4)  (AHLV), (B)«(II), (O)-(1), (D)-(ID)

Sub-Section Number : 2
Sub-Section Id : 53307277
Question Shuffling Allowed : No

Question Id : 5330721891 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the following passage and answer the questions.

Women's NGOs such as SEWA and Annapm‘na Mahila Mandal have existed since the 1970s,
and the Indian government had established mahila mandals (women's groups) in most villages
during the 1950s and 1960s. However, it was after the publication in 1987 of the Report of the
National Commission on Women shram-shakti, which focused on the disadva_ntage that women
faced, that the focus on women in self-help programmes took off. As a result of these changes in
the 1980s both in the approach of NGOs to women’s programmes and the donor support for
gender and development, most development NGOs in India since the 1990s have a much stronger
focus on self-help approaches, and the specific targeting of women as their primary target group.
It is the history and the relationship of NGOs with the Indian state that has shaped Indian
development NGOs, and to a large extent influences the approaches they take. This history and
experience is unique, not only in South Asia, but arguably in the world. This discussion goes some
way to i_11f01'1:1:1jng how the modern Indian development NGO of the twenty-first century addresses
the high levels of poverty in the current development context.

Sub questions

Question Number : 141 Question Id : 5330721892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement best describes women in the unorganized sector ?
(1) Exclusive focus on formal sector development

(2) Undervalued contributions to the economy
(3)  Recognition of their roles and access to substantial pension plans
(4) Guaranteed employment contracts

Question Number : 142 Question Id : 5330721893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following addresses high levels of poverty through innovative approaches ?
(1) Greenpeace

(2) Grameen Bank

(3)  United Nations Population Fund

(4) BRIC Nations Coalition

Question Number : 143 Question Id : 5330721894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Shramshakti’ report focuses on :
(1) Women in formal sector

(2) Self employed women in informal sector
(3) Women in universities and schools
(4) Women in sports

Question Number : 144 Question Id : 5330721895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The flagship programme/scheme of Ministry of Rural Development particularly for women to
access financial services and livelihoods is called :

(I)  One stop centre

(2) Swadhar-greh scheme
(3) Ujjawala scheme

(4) DAY-NRLM

Question Number : 145 Question Id : 5330721896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who advocates for women's 1'ight5 and livelihoods and stands as the Dlﬂy Trade Union of women
in the unorganized sector :

) Annapurna Mahila Maudal

(2) Self Employed Women’'s Association
(3) Jagori

) Breakthrough

Question Id : 5330721891 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Frefarfiaa meror =t ugeRt fau o woe @t see i

21 =ff wet # wfgen T2 (NGO) S/ foF Far (SEWA) 3R e=rquni #feen wegd st 1970 ¥ sifaea 7 €
AR, YR FEFER R 1950 ¥ 1960 F STk % SRA Afuerar el § wiean Wea (wfeen we) Tenfua fey mu)
Breifer 1987 T afeersti w Wi Afeen e # {UR ‘ gn-wfed’, st fF g ofeameii F freewm #9135
A o TeIvHT &d Herdadl FEsHl o S Aieenedl # SR 1980 ¥ 39 el o IRUTTEEY THEL .
(NGO) o Hfeet hrefshel =1 o §ie AR faferea: 59 st (fdn) AR fas™ & fou 2@ gem, < 3 e
@11 1990 ¥ 9RA & faehrg T30, (NGO) &1 §&A =4 %% W Gerdal UM (THE) W | 3R 376
e @ea gy H Afead @ 1 wRd w9 ¥ sfaem oin 3 sl (NGO) § Ty 7 wrdra fasmg
TH.ST.30. (NGO) I SR fean © oIk 10! 88 T 3k SUFTHI (TWr=) o1 9afaa foran €1 2faem ofiv s,
1 FHae e wfan # 9 Jehvig €9 § fava s A oW €1 g ==l e § 5 59 21 off 9 % syt
YA foehrg A .37, (NGO), adam fasmg Hey # 31 R s &1 3R &9 i €1

Sub questions

Question Number : 141 Question Id : 5330721892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freifarfiaa & & & o e, srEfed & o afeensii % fow gfaam swm (Tueen winn) #1 ge
AT FIT T 7

(1) =i &3 fome w® fafre sm

(2) iR § IR ANEH ST

(3) IR iR I TETH SR qd Sfaeht drem i

(4) Trafsa I e1ge4

Question Number : 142 Question Id : 5330721893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa & M e % el SURTH 1 war € 2
(1) pIERIEs| (Greenpeace)

(2) T SE

(3) ST 1@mEl Sy

(4) ToreR T2 HTEF (BRIC)

Question Number : 143 Question Id : 5330721894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘v i’ e o0 g s fag e

(1) i &3 7 wfeemd

(2) s & ¥ Tedierd Hieemd
(3) foemeEt @R favafemmeE & afeand
4) B H ufeend

Question Number : 144 Question Id : 5330721895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o7 ferekTe Warerd i TR dre/EEEn S favwe afeensi & fon foda Gansl srsifas & g
&, el © ;

(1) U W[ *=
(2) TEHR-TE A
(3) S=F Are

)
(4) DAY-NRLM

Question Number : 145 Question Id : 5330721896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

F1 Aieensii & iR e strefifasriati & et o1 gueiA ar € oK sEmfed & # us we Afeen gfos
T & |

(1) F=1quii "igen Hea

(2) TE-TSTRR Hieen T

(3) S

(4) SRy
Sub-Section Number : 3
Sub-Section Id : 53307278
Question Shuffling Allowed : No

Question Id : 5330721897 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions.

Universally or selectively ? If a welfare state is acting on behalf of the community at large, it
can distribute resources on the same basis to every member of that cm:m:nunity, or it may operate
selectively, providing resources only to those who need or deserve help.A case can be made on
efficiency ground for either approach. If benefits and services are available on the same basis to
everybody, this ensures that everybody is guaranteed the necessary minimum level of help to secure
their wellbeing; because everybody gets the same, no stigma can attach to receiving that help and
nobody need be deterred from seekj_ng help; and those peuple who do not need the help I:hey
receive will, if the system i1s funded by pmgressive taxation, be able to pay back what LhE-y have
received, as well as contributing to the help received by other members of the community. If, on
the other hand, benefits and services are made available only to those who need or deserve them,
this will ensure that such resources as are available will be put to the most effective use; optimum
rather than minimum levels of help may be afforded to those in the greatest need; those people
who do not require help will neither be deterred from helping themselves, nor made resentful by
unnecessarily high levels of taxation.

Sub questions

Question Number : 146 Question Id : 5330721898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The author of “Three worlds of welfare capitalism is :
(1) Richard Titmuss

(2) Gosta Esping-Anderson

(3) Karl Marx

(4) John M Keynes

Question Number : 147 Question Id : 5330721899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Progressive taxation is understood as :

(1) A tax system where tax rate decreases as the taxable amount increases

(2) A tax system where only the businesses are taxed

(3) A tax system in which the tax rate increases as the taxable amount increases

(4) A taxation system where everyone pays the same tax irrespective of their income

Question Number : 148 Question Id : 5330721900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Residual Welfare Model, welfare is :
(1) Available to everyone regardless of their situation
Provided as primary means of survival

A — —

2)
3) Seen as last resort
4)  Given universally to all, to prevent any crisis

Question Number : 149 Question Id : 5330721901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following country is not the best example of the Institutional Redistributive Model of
Welfare :

(1) Sweden

(2) USA
(3) Norway
(4) Finland

Question Number : 150 Question Id : 5330721902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a characteristic of ‘welfare state’ 7
(1) Support job creation

@)
(3) Programs for more disparity between rich and poor
(4) Ensure minimum wages

Provision of health and education

Question Id : 5330721897 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Freferfaa ey &1 gget fau o wwAt @1 39 i

Afvaes =1 =afHa 2 afg 1 FearEl T59 gEra: 99 F SR § HHE # @R, 9 78 391 SR W 39
HHSM o Yok TeE &l HHIYHl 1 faawu T Gehdl €, HAYEl T8 F99HF €9 H Fd FLd gL kel TEaHg
HUE HIdl o ARG FEEdi o1 € HEMA & L Gehal € | Ucdeh gIeehivl 8 FIATHal o SR T /A o
g ¥ | Afe Gfawn 9 Fad §6E SR W o Al & fore suers 7, @ 9% gifrea #om fF ude st
o FHedm H A FE T, U AT FAaH e lTdl i TR ©; s, ToIF 1 UHF UK B €, o 39
TEFIA 1 W T H IS oid Tal © SR ol i off 7 wera ure e 8 A T 51 Hehan & o o sfea
o TH HerIdl i AT Tel © a1 9, afe syaeen wiHt wuE d fAfdifig € v weree % "9ed § seE 9
A @R THEE % o Hew i e arel gemEa B Ane off 9 aeh | afs @Rl oI, oy @ e Fee St
! YA FE S & ST Sk A © 31 5% S9! STEvaw §, < g Gy Fom fof gamwEi #1 waifis
Tt 39 2, Haifues sreavgeRd arel safadl st ZAan Tel g ead SerEd < S e 9 31 werar
SAEgIEA el & 3 A A W 1 HerEdl F3A § Uk T, A & T SHETE Y @ e 3= FOEH 8§ T
feman s

Sub questions

Question Number : 146 Question Id : 5330721898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘off aeey STTF deh Ffefesy’ o o A § 7

(1) f=E feenyg

(2)  TirE TR UetEa
(3) oI HIFH

(4) S TH F

Question Number : 147 Question Id : 5330721899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T SO R A H § Ry w9 g S e ?

(1) Tk T T g, o o = afer & 9gq F Wy T F T o §

(2) W Ul F goed foH S SAM W S T ORI S §

(3)  We Ul T yorel forad s A fdn & 9w F Wy # o L a9 A6l ©

(4) TF TH FOUH T T T =Afad THH L 3781 A1 © 99F SqH o9 S of &

Question Number : 148 Question Id : 5330721900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T FeAvEER Hied § e e

(1) Tt =1 = oft feafa 21, o e =1 S9ere B ©
(2) IeRSTaal & wrfie #id 5 IEyd HE

() =9 3ffoy 3 F w9 H T W ¥

(4) | T TEE €Y H S, G F FHEH FET

Question Number : 149 Question Id : 5330721901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e & | T SV Fedm F WG YAfdalE Aiee 1 FaraH el TE ¢ ?

(1) wreEd
(2) 3w
(@)

(@) fEIeve

Question Number : 150 Question Id : 5330721902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= d 9 %1 s  wearrsr) T wm 9fE T/ e ?
(1) TSFIR oM | gned

(2) &R 9 1 g
(3) = = A % <= stfees st &g FEE
(4) T o1 giHfEEa w5
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